=]

|
uE

Eastern

Rl
Western
Europe

ar>Ea (#Fh) SFRBES

North
America

BEE R

HAE series
Talwan technology

p-NE S E o

g =

£ e R R/ IR
Eifi: 0769-53262114 BEah: 0551-67047758
HE: 0769-53262115 BE. 0551-67047758
Hohlk: BEACA R SET EASREEM AR Mk, 280y & e IE 7 5 =
AL 1420855 5 SOk BE E RIA LR
OE AL
S g SN : =2
Taiwan Equipment Supply ﬁ
Center/Kaohsiung Fe A
i /Phone: 00886- 75694285 m] ¥ . % Eﬁiﬁ%l_ﬂ:%ﬁ
fega Kuningan fﬂ%iﬂ:/}_&ddr_e??: 2k HET - 'mm’.ﬁ;”g; % _tﬁ%ﬁ ?"‘I'& ( J:?@ ) ﬁ Bﬂﬁ\\ﬁ_ﬁl
arta Selatan NEEIE B 72058 LT 7 #: 400-7805898
905 - £ 6 B PSR ENT C WWW . STY-CEAR.COM I
12950, Indonesia L AR LT R, A3 1 £ =
I B AT S0 PR A 2 7 B A % ‘(\‘lif?}/p h/ }
#t



A [

Company Profile

EWf R (Big) FIRA R ZSEEHR T ELR2013FEE LRI 2R T AR . A6 SLER2K
TRABUTR, RETERRBEKETHENE. £E. HERHETERERE. ARESIRITE
Heas N SRR B (HEAR . D . WLmﬂm&)MWR,%ﬂm@@ﬁﬁﬁﬁW A i o L A R
7%, WMBENTEE “STY-GEAR” i H & EL# 2 A (RIE & T /F A0 Ml B A itk . 3RAMR A 2 o 1 3
ﬁﬂ%#Lﬁ&ﬁﬂﬁ?,%Azﬁﬁmﬁﬁm%k SRR HRES MR BIRTE. AFEA
STY/h R = fE AT Ui, RS . Mk, /AREME LR, ET PR, BHMEE. FaRk. 24

SRR

20 144E 24 ®) AL 7] M o 2 UK B hn T R A n Tk, KA g B EGE. DA R SRS
B HOAKPS)iE Bl 2k 25 8 TR f, e i RE R R AR R O T RAR AN . T BB
BHMEBEFEHAMM, ENRNEHES, RIMFEEMNHRERBOERTCEILE, 78 T84T 2wk 8
A A B, TOMCER R CAWE SR AR A SR Oy A, PR W IR HE G R R 8 B 6 AN R 22 B R g R
(QOFFEREFEMPELR) , THEHEAITERESR RVEEZRMEWmIER) , e DLIEHE & HR
WA, EMBIZERNTHEE (EMEK) , SOREE, KTHEZ8%, scasit, eR&f, HREihsE
WREUR R SE I, SRR BN, M REIRIEE, e i, AREEHE, R EERSa
i) 10 A2 FE &%#Hﬁtmﬁﬁ%%ﬁm

mg“ﬁ¥$ﬁ2$ MY e TG IR O E B E M E N, REEEAN LR TR,
Wbl “ % ik ﬁi,ﬂ&{%%%”mﬂﬁmhﬁ,%ﬁ“ﬂ%\@%\%%”miﬁﬁw B E LA
NAEA, HEREL” MG, 8 “ARPAGHEME, AETAGEE, AHEENR” HMOEHEMA
E,izﬁm@m\%%ﬁ%ﬂkﬁu&mﬁﬂﬁ$MIW% Tmﬁ* AN B FH rE R R R A 2
i i

Shangying Transmission Technology (Shanghai) Co., Ltd. is a wholly—owned subsidiary of Taiwan Seiko Enterprise Co., Ltd.
established in Shanghaiin 2013, and officially opened in March 2013. Based on the global industrial automation field, the
company gathers seniorindustry teams to conduct independent research and development, production and sales of high-
precision planetary reducers. The company is also committed to the research and development of special reducers for
industrial robots (cycloid, few—tooth insert, planetary combination). Our team is good at a variety of internal and external gear
processing solutions. We have summarized a complete set of "STY-GEAR" quality management system To ensure the
relative eligibility of each component. We use advanced calculation software for design and demonstration, combined with
years of experience in mechanical transmission to improve global motion and control solutions. The STY brand high—precision
planetary reducer held by the company has the characteristics of high precision, low noise, large carrying torque, stable op—
eration, strong versatility, long life, and maintenance-free.

In 2014, the company introduced a large number of high-end imported precision gear processing and machining equipment,
including American Haas gear shaper, Japanese Cassif gear hobbing machine, Japanese KPS whirlwind milling and other
machining equipment, constant temperature dust—free assembly workshop and constant temperature precision machining
workshop successively Putinto use. The products can directly replace German and Japanese brands. The product series are
all complete, and the size and accuracy are completely matched with Japanese German reducers. While upgrading planetary
reducer products, the factory adheres to R&D and innovation as the corporate development direction, and successively
develops and launches suitable for automation Different installation and output requirements (90 degree precision right angle
reducer), multi-joint robot industry reducer (RV high—precision pendulum cable pin wheel reducer), non-standard custom
reducer can also be customized, the product is widely used in machine tools (gantry machine tools) , Laser cutting machine,
woodworking engraving machine, 3C automation, photovoltaic equipment, lithium battery and other new energy equipment
leader, full servo paper towel machinery, precision embossing printing machine, precision coating machine, servo bending
machine, CNC spring machine, etc. Higher equipment, etc. have the use of Shangying reducer.

Quality is the foundation of a company's survival. Our original intention is to provide the market with stable and high—quality
products and propose more optimized automation solutions. We will be guided by the idea of "Born for Intelligence, Techno-—
logy Drives Innovation", adhere to the corporate spirit of "Dedication, Teamwork, and Innovation", adhere to the tenet
of "People-oriented, Professional Enterprise", and follow "Create value for customers and provide employees Create
opportunities and create benefits for the society" corporate values, gradually realize the internationalization of products,
marketing networks and talents, brands and capital, unremitting pursuit, and constantly use business wisdom and sincerity to
create the future.

AR

Fa

Technological
revolution

Part processing

Part processing

EMEHSERZESERMESEEUMNI, EFaKIREH
EEXR, MRREEZEX; BREVNAMBEMAER, TEHER
BB HERE , SKILE DS/ BRI H w5k A (B SRR T
HRAER, BREEAZATRKMMBFEHENTEM,

We introduce high—speed end support and gear meshing machining to better meet
the coaxiality requirements and meet the low noise requirements increase the
adjustment ring inside the reducer, adjust the internal axial clearance to minimize
the turbulence; reducer The output is carried by atapered roller bearing to meet the
greater force requirements and the absolute stability after loading.

BEVZOEBEHIRABER, STl E>, KXW “F
WAHENLSE, BlblELEEF" , IMERAEEIEH, B
wERAZKHHE, FEEHESTY-GEARREEEKRE K,
PERE,

The core components of the reducer are produced by professional companies in Japan
and Taiwan, and realize "professionals do professional things, professional companies
do professional parts." The external teeth are hard scraped, the internal teeth are

broached several times, and all parts are fully inspected by STY-GEAR quality
management system.

SMURAH.. BHER, MEWENFXR; IMRALERAKE
TZ, 2RTiWW, MEEXBE. B

The appearance adopts curved and straight combination to meetthe aesthetic
requirements; the external surface treatment adopts aspecific process, and
the salt spray testis used to achieve absolute anti-corrosion and anti-rust.

WQ.J& ﬁﬁiﬁﬁnjljh?'ik

lAlWaN SHANGYING PRECISION




MANRE=RAERUAS, ATEBEEREMEN,

BiER#EREGE, ERRESNRTBREEZ N

The modular combination of the input flanges allows for easy
adaptation to any motor and the use of magnesium-aluminum
alloys to ensure strength during weight reduction.

BNGH SR AN E F A WAV, HWRS BV
BEANESERSZHIHTE, WANHS KRR
EEXARNIMEBEITERS, WRIEZETITE
XUBE

The input shaft adopts a double collet type locking
mechanism to ensure the dynamic balance with the
holding torque of the motor shaft and its own parts.
The input shaft is connected to the sun gear with
internal and external spline transitions to

ensure that there is no risk of slippage.

wHE=. REB=FAER, THRFHENE

> DEER, ALMERERERE,

The output flange and the inner ring gear are integrated to
ensure the concentricity of the parts and provide a guarantee
for low noise.

WHMRANZE “—EX” G0, WEREEYE
BRHETHREL,

The output shaft uses a double-support "One-piece"structure to
ensure the stability of the reducer under high load.

EEMBARARLREEN, fB-RLS4E, AWM

$K15 5 MO T 5 M AR 6 901 <
The gear material is made of high quality alloy steel. It is

subjected to carbon-nitrogen co-infiltration to obtain

better wear resistance and impact toughness.

BHITERFASER ( WXZE ) BEMILT,
HIGHAKXBES T THEERN, RRRENS
NG, DBRESHHEERENBE,

The output planet carrier adopts an integrated (double support)

’ structure design, and the front and rear bearings are distributed

in the box body to form a stable integrated structureto ensure
high torsional rigidity and precision.



\

MACHINING

MT e
GENTER

B—ETRF, BElEmKkE.
4R, BERBALZE,

Every process, the better the requirements.
Every product, are all carefully make.

E PRI gt oA

o*

Tl e S e g VS — g




-

S1EdF

The Cooperative Enterprise

CHNT

GRE
AIr'TAC ‘ ‘ = S

 Sieyuan’

MTIANMA I ‘ 75 | it

BES

TOYOTA () BOSCH

@ HONDA ‘ !:1
Homa&azg SI/ISUN 3 it Y HanNKooK

"W CHANGHONG F4T

SIEMENS

@ GREE

T N -
LD | @cwkine

AT

Our advantage

an hR L &

KBEIFEREFSHENITER
#EH, FEHENTR, BERRR
REMRMEEKE, RETLRNHS
HIiZAE, HERZRE,

branded advantages

Long-term focus on the development
and production of high—precision pla-
netary reductionSpeed, with excellent
products, service quality andProfound
brand heritage has won the industry
and the marketls widely recognized
and has many honors.

FATTHIBE 77

T
EIERUNIMLBRR, RERN
SMTALSEH R AR TGRS, RiF
XipEEARE . EHNEML
Fugr@m. wHENK, ARFEE
BENRERE,

Industry advantage

Relying on the internal and external
advantages of the enterprise, gather
advanced technology and innovative
ideas from domestic and foreign indu
stries to maintainPreemptiveness to
market excellence. Cultivate and in—
cubate new products and business
models to create for customersCon-
tinuous return on investment.

ERAASHEMUFER, FEREZUREE
MYERAR, BURFNERARS, EFLRE

WRIBEM M.

Our ability

With high—tech and innovative technology, continuo-
usresearch and development and precise creation tech
nology, and efficient and good customer service, Shan-

gying can ensure stability and quality.

RIBELBE
Lt REEASR AR ARG
z—, HEELE=EMALATIERIF
HIEE#EEE, ATIAMB®EE, B
mEHE NI,

Resource advantage

Shangying is one of the earliest ent-
erprisesin the field of transmission
technology in ChinaOne, with Taiwan
enterprise background and good capital
marketFinancing channels, can be
project construction, operationProvide
strong support.




Em ﬁ¥ Application

FARE B HEGT ESEEELIINES
Photovoltaic industry Pharmaceutical Industry CNC machine tools

AGVEECi#E &
AGV intelligent st

5 6
R EE 17 25
orage equipment Textile machinery medical instruments

AEEMEHELE g & IR
Auto parts manufacturing equipment Testing Equipment Filling machinery
B & lot

EEMERAEE, RMREEHE. ERE. SHEEILNTERERBRAR., RMERERTIXEEEME
1T, BRATHRMARE, HEEITR, BIEHA, AGVEREMRME, MM, DRISRE, KEFTHBHHIE
B, WRIEM, EREH, AU, BRSH, aREELFIREE,

e

laser cutting

ENRIig & BRETE
printing machine | Packaging production line
il e

In your application field, we provide high—precision, high—quality, and cost-effective planetary reducer
solutions. Our products are used in various industries in the industrial field, suitable for photovoltaic
power generation, pharmaceutical industry, CNC machine tools, AGV intelligent storage equipment,
textile machinery, printing equipment, auto parts manufacturing equipment, testing equipment, filling
machinery, laser cutting, medical equipment, Industrial fields such as packaging production lines.




E S B CONTENTS EZE s B2 CONTENTS

HABSRESHERT é" VRB SHESHEHEZRT
SERIES &%= f SERIES &%/~

P1-P5 v
HABR®EfEHES HERT L VRL Bi:HsHESHERT

SERIES % 37= & SERIES %77~ &
P6-P10 P38-42

HAF BZR®RE &5 HAFR @@ ZRIgs 275

SERIES &%= ar |
#507 fm P11_P15 SERIES #7%I7 m P43-47

HAE BisM@EZRERS HAER B+ R RBRI R

SERIES %%/~ S \ | 7= =
L = SERIES &%/~ M PA§_5D

HAD SlitaHER

SERIES &%= &
P21-P26

/R EREZEERERY
SERIES R 5/~ &

HADRE & SMESHERT

SERIES #3517/~ m
P27-P32

DG EREPFEREFEE=RT

SERIES #7%I7m
P57-68




E S B CONTENTS E S BH$: CONTENTS

B2 e <A IR R AL FR 5

1]
= 45 22 i O\ &F B ) HH 95 (@) 25 = T A B O\ = 80 ¥ [o) =

HZT-L " HZT-4M

A\ 5 o BTN L e S

HZT-L1/R1-L i HZT-FL

AT LI 5 1 28 = w5

HZT-H 1 HZT-FL1/FR1

= T O\ 9 6 7L i ) B8 | ERTerldmEms

HZT-C

= 1 %6 il O\ &F B 85 [) 25

HZT-LM/RM




BESEIBRECRAERHEBAHABYEETRER. KFEERRRA—BTANER
BEFREREZZINEAENES. EHBERETLUREEROEEREHE,

BFHBE

o -

y] 2 z%?& Power Grade
R i % 2 B

T, miEtLiEHA

3

1=

SELECTION REFERENCE TABLE/RATIO SELECTION TABLE

> HY Ty " Ty "y F3 IS TR =
5 S 52 €Y S2 eyiey S )02 %2 ey 82 S50 O e o
e 2 %mm"muumu"m”"m”mm.—"m.—"«wm&u"._.“"m.._"m.-"m.._ '3 %S
— | [ (R i - I 1 | [ | 1 I 0 s
T 2% ey 03T T IO O T OI0O 0! 6
= Fro oy e o i i Foo--—- ety e f------- i 4mmmim- o ] | foomooo-
oOC > o> gyt ¥3 : : P Py TF . o PN " " =
O - i . \ _“ . | . | ) | 1 | | i o
mmm %mm"w.-"mu"._;".__“"\u".:;_,w”«u"nw"\u"._;"._;" L& Mo
DS (ACleyi € O3 T iy OV iey iy Viegy .
mmeT  housges e oS R T e b s e e b LS 2 o
o o #HG | L ¥y : ! " ¥y Ty " . oy . 3 =
.m_em 793_&"_-*_ ' ! ._.’..U_ [ _.’_ [ o
S585 |ailiey e) D O D Digyiey i 2O <
5558 |ESSieyiey D OO Oigyiey T ey 0O 5
ag>5 | T R N SR S S A S S A S I S
2ETw S | | | m Ly ¢y €3 | | | |
mmmm %MHM“"._‘T‘.’":"ww".._..."w.__”\.-"..J_..:"\w".:"..u
SEQ2 E Py Py on i ¥ L7 oe SF ST Beinel oh Y I 0y
e (2 ITTINITing P an NNl
W SE  [reeselaaelemmm el g b nies b o s e s s e s ;
Mmmm mMm"«w"&w"&u"&»"mw"&u"«w_”«u"..J" Y . L
2838 m.mmmmummumauma.-m1._1_1..;._1.1.1._;m“wm.:_m._“ )
5525 ST TR £ £y D gy gy i Fy  £) €2 gy )
035 " | | " YW R " | | | |
kol —_—0 @ T Lr (o e FTT T T T T T T TTT o Y e H [ 7 )
g =l S\ ¥y ¥y : ¢y : : P : " " _
Q= T ._nﬂr_. - 1 ' : 4 : : L : : i | I
; 2355 |ES @) )i iD ey DD ey 302 O30 2Y
S 59es T 6. € O O g9 O Digy OO O |
2 2588 gl e [ S | Mol S S f A L — | S A [
S 2E35 |RECCV 0 awion €Y €Y CY Y .o - €Y
8 22:=E m.mm"wu"ww"u”"uw"w.-"w.-"..u.-"\.-".._;"._:"._;"q.-" n“
G ez SP .89 Py Py AT NP NF . RF Se:ipe pe LT @Y
g 332= He3: €3 ¢y " ey ey ey iy 0 O3 gy
£REEE LA s S
S g Ewiwag SodEL g
@ ﬂ.m"A"B"A"A"A"D"R"R"F"E"R"G"Z
i M @ - " | L " "A"A"Z"D_
3 = e nf el ol B ot o o e Sl e fpi Hh FRA B B =
=< | i =y " " = g ! | ol s | "
g a | | ; " " | " " | | | "
5 | " | " | | " : " i | |
ii O e ¢ ¢ ¢ & 4§ 5 0§ 5 3 &
g |e| |o| |@| |@| |@® i ® » °
B | @ o (o (o |0 ® @ @ C B o |0
8 oo ® % ® (AN °® () (L) ® °®
m.... & L5 @ ® e 6l L BN ] ® o ® e & &
m.... o ® B | BN & [ BN J ® o o ® o & @
m...... ol o [ BN ® o L BN ] ® o o ®o® @ (]
S eolo/0o/0o0 0 e o oo o0 o0 (N ) o0 0 e 00 & #*
Selo/o/0o0 0 e o oo () o0 (I ) o0 0 e e 0 ® o0
S eo|o|o/0oj0o0 00|00 o0 o0 (3N ) o 00 e o000 (N )
ford
tm.......... ® 0o ® o ® e ® o o L BN BN BN BN J ® 0
m.......... ® o L BN BE BN BN BN BE BE BE BE BN BE BN BN BN ® e
m.......... o o (BN BN BN NN BN BE B BN BE BE BN BN BN BN ( BN
m................................
“ o o000 0 0000 0000 o0 0o o0 000000 o0 o0 o0 o0 oo
oo o000 oo 0o oo o0 o oo e oo oo o o e oo e o o0 oo
I 000000 00 0600000 000 0 00O OGO OO O OGO O OO 00
=S BN BN BN BX BN BN BN BN BE BE BE BN BU BE BN BE BN AN BE BN BE BE BE B BN BN BN BN BN BN BN )
wﬂhﬁo000000000000000000000000000000
# § 3|8([8|8/8|8|8|8|E|\R|8|2|B| g 82 8|22 22§22\ §/2§| 2§ F
15
=
2 2 2 z| 2 |3 2 = 2 2 s |2
sy 2| 8 8 2| 3| % : |E| % |§| £ |§| & | & | g |
W S - Y I o ~ - - o o © L] w0 w ™~ = L




ik 33 4% A9 i A BE 3%

.nuﬂli

l FE R E RN
:ﬂ- AEHET2NOT Nm BLEEEHTIRZEMRANE, EEASGR, HEBTATEEIB10004%,
2c
L
_— WuwEE A ik 7146728 Nm | ERMSESGET, RERR R ER R N T RENR A A,
& 2d
. =HANE Nm BEEEMHIRERANT, R THEENBEZE NN NLE.
2ra 2aa
ED<60% Fore * Faae : Vil i ; : g i
tuwork <20mins RS i B ENTN rom | EGEHEENIREEMAES T, TAFNBMANEE, HYEERERE2SCTAE,
(Eq.1) A A ?"' ?“" A BB/, MR REBIBI0T,
2rd 2ad
Shewicio W Auv & ANHEN1B rom | MBS EBE R T, TR, W IR E25°C TR,
ETEEELE (Eq.2) AtEEE LI (Eq.2) nzc‘ BRABNEEN BIEES . 18 MR R B BE00T..
n,. . N
il L wamE 5 B R AEES , RN B i
HET2m (Eq.31 H%ETom [Eq.3] P t, _J i | t I tp %ﬁ aremin ﬁl ._Eﬁiﬁiﬁii?t?‘]fﬂjﬁﬁ. ﬁl] i_ } .
T : BRSSP AR B A, 1 R S
MH%F1/60E, ERE,
s s (—)
«——— | 1.ED= bttty x 100%, t Strt ity
o ey SR A, BEL DS, A
BARK FHRBE: amiE c%ik R R AR
i bl s I e T B A o A B O .
4 Nm/arcmin | I i i 8 . £
il B s, MEEAERGAE, Kkl :
ERBESTEMC RN r SRR mammie, 0B (=) aRBasR, BT
Moori BT 52 i FE 22 1 (Eq.2) EE A T S A 58
IS8 PR K S 2 3 E - S ; B @ (=)
S5 P/ L L s _z\l"u"'axTzn*"'m“c*Th"'"m’-‘dem
s Tom = = —
ol A TR E 2 B AR REE S, “x1 .
(Eq.3) 1R R 2 M s |
HE RS EFTE 2 & E AF2rm AT ™ Tun X1 %K) Fas -—1-'1
o5 HF2am lEQ-ﬁi Ksﬂiiﬁﬁ[ Af%ﬂj‘jﬁ.ﬁmrﬁjﬂ N i
Ks [SE P TN For (&7
A S R G ) L BT 2 348 ) F2rB 7 Fea #ii&1
i[5 F2aB 1.0 0-1,000 B
kI 1,000~1,500
1.3 1,500-~2,000 BEN % IR N EE R ER ISR ( NREEE)
58 I K 1.6 2,000-3,000 ¥ g C IREBRESEILRE (IBRIERE) .
- : Bl: 1P6e5: E—EHFRTIHESS, £ BEFFRHKER,
SR T 00 R TmeA
2pE 3 Bl T ARE TERTE %ﬁ ¢ o
ER— B s e AR, IERRSASIRRITR, WIS
-
v e A W dB(A) | IREMERMER AL BT,
S T
S5 FIRE < RiRFR M = (Eq.5) ayiEe kg.cm2 | sgEhiERERMRIS A SSIEMAREA R LU,
— R ERER AT AU TAR
6 F o 3| MR aX Fan o X X P 4 Xty X iy CDRES Nm | AR E BB RN E, R SR L SRR SR
FiliE N AEEATEUTAR e Na X ty# Mg X 1 #04 X1 - . — ‘ ‘
H# H inSEEh R 2 BRIRE B R N I3E, ANRSTEUBIEMSEE LE S iR R ER SR
. - i RE# H5E Nm
. %j%ﬂn"Fz-"'“zn‘tc*Fm""m"td“anu SEEN 1%,
J 2am™ +
JIARuAS et B8 AR 25 C SR BB\ B23, 000rpm TS, 405 BOR S H H B 14\ BN LNAZIB3, 000rpm,

(Eq.6). . S A RO 32 B BRE W N PR AT 2




BRES R s

HAB SERIS ORDERING CODE

High precision and high torque series HAB -060-10 - S1 - P1- i - (014x30/050x3/4-070-05.5)
. BilHHZRRT
HAB series okES DHHERRDE
Motor Type Motor manufacturerm and model

BRER PO: ERESKE P1: BETR P2: trAEL IR
Backlash Class Micro Backlash PO Precision Backlash P1 Standard Backlash P2

H R S1:StibiH, TRTE S, HHEME SSHUE AT
Output Shaft Keyway Solid Output Shaft(No Keyway) Standard(Keyway) Qutput for holes
il tk #Ratio

B4, 3,4,5,7,8,10
WH: 12,15,16,20,25,28,30,35,40,50,60,70,80,100

BIEHL F 5 Type HAB 042,HAB 060,HAB 090,HAB 115,HAB 142,HAB 180,HAB 220,HAB 330

=& #(The product name)

R EEMEER

Reducer moment of inertia

HAB 042 HAB 060 HAB 090 M HAB 142 HAB 180 | HAB 220| HAB 330
3 0.03 0.16 0.61 3.25 9.21

28.98  69.61 94.31

'Eﬁﬁﬁgﬁ Performance characteristics 4 0.03 0.14 0.48 2.74 7.54 23.67  54.37 77.45
‘B2 R AR ';°"" e C'f‘a“‘l“"‘ - 5 003 013 047 271 742 2329 5327 7655
ear backlash is less than 1arcmin, accurate positionin
ERERET 1aromin AR ENARTSTR FTo YRGS 0 p 9 1 7 003 013 045 262 714 2248 5097 7212
"R 5 Y 496 ) 1 7% 3 48 Adopt one-piece dual support structure domain design, which ’ ’ ’ ' ’ ' ' ’
FA—EXEZEREEEEFT, BXRESHERAE greatly improves rigidity and torque 0.03 0.13 0.44 5 58 707 2059 50.84 712
*ﬁﬁﬂji’&ﬁﬁ ;ngh output efficiency %ﬁﬁi% kg/cmz I ' ' ' ' ' ' '
LARBEHREEFI7% SrRIslengytiikinad 10 003 013 044 257  7.03 2251 5056  70.11
SRR “Low noise
“Grease lubrication free of maintenance
ik RS 3RR 3 . 12-40  0.03 0.03 0.13 0.47 27 7.42 23.29 68.5
it R 7R S M — s y Use high-viscosity, hard-to-separate grease to effectively 2
ERATHKE. THAMOMBE, AHMLERERR. £ prevent grease leakage. In No need to change the grease during 50-100 0.03 0.03 0.13 0.44 257 7.03 29 51 68.5
EmEAaH Wﬁ@ﬁ?ﬁﬁiﬁfﬁ'ﬁﬁ, the life of the product,

01 \§ y/ 02




= |

Mg B | B | X
Model NO Stage | Ratio | HAB 042|HAB 060 | HAB 090/ HAB 115 HAB 142|HAB 180 | HAB 220 HAB 330

{23k /Specifications Table

MODEL:HAB

B EX 1-Stage
Lt 8 3,4,5,7,8,10

140 1000 1300 5000
4 18 b5 145 310 550 1180 1800 10000
5 22 60 160 320 620 1200 2050 8000 iy A\ 3 INPUT i HH 5wOUTPUT
1 7 20 40 145 300 580 990 1810 8500 A2 c7 Al
8 15 40 125 260 520 960 1700 5700 c3 c4
Cl
10 15 42 110 210 430 1000 1650 5600 N
12 20 55 140 250 490 1050 1300 9800 | 52 S1
15 20 55 140 250 500 1020 1300 10800 - oﬁE—f— —_— EEEJ -
16 19 50 140 245 520 1020 1700 10800 =18 Tb— — =
20 1) 50 150 310 600 1200 1800 10800 ,‘
R BTN E
Norwel gt Torque | NI 25 22 60 158 330 580 1200 2000 8550 o J 2
2 28 22 50 165 320 660 1200 2000 9500 6
30 22 55 165 330 660 1200 2000 9900
Hl
3 22 55 165 330 660 1200 2000 10800 IR, s2 B TR S3
40 22 55 165 330 660 1200 2000 7890 D9 H2
50 22 55 165 330 660 1200 2000 6720 ] 7L
o I gt
70 19 40 145 300 550 1010 1850 8200
80 18 40 120 280 510 1010 1700 8200 i _
100 15 42 110 210 440 1080 1950 8600 v
bt e SR 1,2 3~100 3f& #iE i H $148/3Times ofNom Output Torque Mgk Specifications(Unit:mm):
Rmar Vot Spoed rpm 1.2 3~100 4000 4000 4000 3500 3000 3000 2000 1500 E—Hslze HAB042-L1 | HABOGO-L1 | HAB090-L1 HAB180-L1 | HAB220-L1| HAB330-L1
| bt rpm 1,2 3-100 6000 6000 6000 6000 6000 6000 4000 3000 [ o1 R ©16(14) ©22(20) ®32(25)
1 3-10 - - =1 =1 =1 =1 =1 =1 D2 035 ©50 80 o110 ©130 ©160 ©180 ©290
PO -
gﬁiﬁnaacklashpn arcmin 2 12-100 = _ _ e =3 =3 =4 - ®8( =11) ®14( =19) ©19(=24) ©24(=35) ©35(=42) ®35(=50) ®55(=55) ®55(=65)
= _ - Y ©30 (30-50) ©50(30-70) ®©70(50-110) ©110(50-130) ®114.3(95-180) ®180(95-200) ®200(180-255) ®250(215-320)
WEEH P : 1 20 = = =3 =3 =5 23 =3 =3 e
arcmin D5 ©50 70 ©100 ©130 ®165 0215 ©250 370
Precision Backlash P1 2 12-~100 =5 =5 =5 =5 =5 =g =5 =5 “
4-0 3.4 4-05.5 4-07 4-09 4-011 4-D013 4-017 4-p22
AETRE2 T 1 310 =5 =5 =5 =5 =5 =5 =5 =5 B 045(30-70)  ©70(70-130) ©90(70-145) ©145(70-165) ®200(90-230) ®200(110-255) ®235(145-255) ®300(180-360)
Precision Backlash P2 2 12-100 =7 =7 =7 e =7 oy =7 =7 | ps [EERIZCH 4-M5X10L  4-M6X12L 4-MBX25L  4-M12X25L  4-M12X30L  4-M12X30L  4-M16X35L
BRNE T R Niiaremin 2 A0 S 8 14 25 50 145 230 350 BT vexo7p wmsxosp M8X1.25P  M12X1.75P  M16X2.0P  M20X2.5P  M20X2.5P M20X4.2P
FUHGHAEE N 1,2 3-100 780 1540 3270 6720 9500 14500 50000 93000 1:': 28: 3?'05 f; :: 22 1325 12250
: . 2 :
#i% i HFatB 12 E 735
bl Bl N : 3~100 350 1650 3360 4710 7300 26000 43500 4 6 8 1o 18 15 20 30
ErRG B 1 hr L2 3«10 22000h 26 37 48 66 97 105 138 150
S ABMBENEficioncy o, 1 =10 =97% 4 5 7 15 11 7 & 15
2 12-100 =94% [ c6 | 30 38 47.5 59 83 86 120 118
_ L1 st 0s 18 57 7s te1 oz s es 5 120 s s TS
2  12-100 08 19 55 95 19 34 62 110 2 ; 3 - - 6 ! E
| sz | 14 25 32 40 63 70 90 110
gﬁmﬁ . © 2 3~100 (-15T~+907C )
perating Temperature 15 18 24.5 35 43 59 79.5 85
iRi&/Lubrication Nm/arcmin 1,2 3~100 2 & iR%imAE ( Synthetic Grease ) “ 5 5 6 10 12 16 20 22
B 4% 43 Protection Ciass 1,2 3~100 IP65 42 60 90 115 142 180 220 330
54751 Mounting position 1,2 3-100 fE& 71 ( Any Direction) 42 60 90 130 180 180 220 285
e T T T — 16 20 % 55 e 0 70
1.EE#(i=Nin/Nout) Note :Ratio(i=Nin/Nout) ) ) ) H1 8 14 20 25 28 28 90 100
e N s 13 000n, Nota ;“T"’h“{ %}Ziﬁﬂéﬁ' E:lz_%‘l‘@'r'}::"ag”g‘grgfé HIUHAL U b ot et 3 5 6 10 10 12 18 20
ancineseryice els B LIRS E R T (ES e R T, Mote 1: Inside of()isthe optional range of sizes outside of () is the standard size s.
BAIAEALYERALE lta 2 Thefduoer ouput shft a5 and ongts o beaetomizadforousier,
RiEE ABLR < R -

ERN y/ 04




MODEL:HAB

& E% 2-Stage
Lt %§: 12,15,16,20,25,28,30,35,40,50,70,80,100

i A i INPUT

A2

#ii 4 #OUTPUT

Al

##& % Specifications(Unit:mm):

C7
C3 C4
Cl
] 2
| L 52 51
H =
d
G5 G2
C6
. 52 BHY th . S3
D9
¢D1

12

RASRSNERT

Corner high precision and high torque series

HABR series

B or2(13) ©16(14) ©22(20) ©32(25) ©40 ®55 »75 ®80

035 ©50 ©80 ®110 ©130 ®160 ®180 0290

®8(=11) ©14(=19) ©19(=24) ®24(=35) ©35(=42)  ©35(=50) ®55(=55) ©55(=65)

YR 030 (30-50) ©50(30-70) ®70(50-110) ®110(50-130) ®114.3(35-180) ®180(95-200) ®200(180-255) ®250(215-320)

050 70 ©100 130 ©165 ®215 ©250 ©370

B o34 4-05.5 4-07 4-09 4-011 4-013 4-017 4-022

©45(30-70)  ®70(70-130) ©90(70-145) ®145(70-165) ©200(90-230) ©200(110-255) ®235(145-255) ©300(180-360) - o

[ ps RV 4-M5X10L  4-MBX12L 4-M8BX25L  4-M12X25L  4-M12X30L  4-M12X30L  4-M16X35L 4 BE 2L Performance characteristics

BT vixo7p wmsxo.sp M8X1.25P  M12X1.75P  M16X2.0P  M20X2.5P  M20X2.5P M20X4.2P B 52 R B A “Low return clearance

19.5 28.5 36.5 51 79 82 105 120 . ) o Gear backlash is less than 3arcmin, accurate positioning

5.5 10 12 15 20 30 25 BT F3arcmin , B AR *High torsional rigidity and torque

4 6 8 12 18 15 20 30 “HE S RO S A 1 R 56 Adopt one-piece dual support structure domain design, which
C4 26 37 48 66 97 105 138 150 FA—RBXEHEBER, BXRSHEREE greatly improves rigidity and torque
C5 4 5 L 15 11 7 7 15 HHWES ‘High output efficiency

30 38 47.5 59 83 86 120 118 . % effici

7 | 114 148 189 233 321 347 4415 556 *g%ﬁﬁﬁmﬁgﬂg?% ‘?_70:: i:;:;ency endClent

3 2 3 5 5 6 i 5 Ly e ans Use helical gears for quiet operation

bisi 25 =2 iad € i b 110 ﬁﬁﬁﬁﬁt%ﬁﬁ *Grease lubrication free of maintenance

15 18 S B2 i 2 s B “ith B R R S A Use high-viscosity, hard-to-separate grease to effectively

45; 65()) 9?) 11105 11422 11860 22200 32320 EREME. $%ﬁﬁﬁ?§i}ﬁiﬁ'ﬂﬁ , BREIEFEBERE. £ pre\:rent grease leakage. In No need to change the grease during

42 60 90 130 180 180 220 285 ERBaNREERERE, the m? o t_he pmd,um’

12 16 20 32 35 42 60 70 REFEEF Flex,'ble lmallefionb e .

“ 8 14 20 25 o8 28 90 100 HEAGEREEEE DGR, TREETEROOES The nghlt-angle reducer uses sp|ra|beveltt;ealrs,and t'he motor

3 5 6 10 10 12 18 20 b AR connection can be bent at 90 degrees, saving installation space

EA b s B b R D S Mol B T rdie) Bt DAL s AnclIral AR b8 Sualomizat for shshricre.

H3 A RTAIRIES BRI S Note 3: The input size can be customized according to the customer's motor size

y/ 06




MR TS
HABR SERIS ORDERING CODE

HABR-060-10 - S1 - P1-5i& - (014x30/050x3/4-070-05.5)

RALHEHZER
xRS SxHEERES
Motor Type Motor manufacturerm and model
HHESL PO: SREEERE Pl BEER P2: #R P

Backlash Class Micro Backlash PO Precision Backlash P1 Standard Backlash P2

H ) e 1E SISt v, TTEIE S2:intm, AHE SSHELATL

Output Shaft Keyway Solid Output Shaft(No Keyway) Standard(Keyway) Output for holes

Ek #Ratio
835, 3,4,5,7,8,

8,10,
W¥: 15,16,20,25

14,16,20
28,

30,35,40,50,70,80,100,120,140,150,180,200

BIEHLF S Type HABR042,HABR060,HABR090,HABR115,HABR142,HABR180,HABR220

7= &M (The product name)

HEEER

MOMENT OF INERTIA TABLE

Pl B4 | B¥ | MM | HABRO42| HABR0GO| HABR 090 | HABR 115 HABR 142| HABR 180 | HABR 220
0.09 0.35 2.25 6.84 23.4 68.9

g 1354
1 4 009 035 225 684 234 689 1354
5 009 035 225 684 234 689 1354
7 009 03 225 68 234 689  1%4
8 0.09 0.35 2.25 6.84 23.4 68.9 1354
RHRER  ko/em2

0 009 035 225 684 234 689 1354
12-40 0.03 0.07 1.87 2.25 21.8 65.5 119.8

2

50-100 0.09 0.09 0.35 1.87 6.84 23.4 68.9

07 \§

H#T IR K /Specifications Table

HABH042 HABR060|HABR090| HABR115| HABR142
3 20 55 240 480

140 1000 1300
4 18 55 145 310 550 1180 1800
- 22 60 160 320 620 1200 2050
7 20 40 145 300 580 1100 1800
1 8 15 40 125 260 520 990 1700
10 15 37 110 230 510 1080 1650
14 14 40 140 305 560 1120 1850
16 15 40 125 260 520 990 1700
20 15 27 60 165 400 660 1250
HEH HALET2N 15 20 55 140 250 500 1050 1300
Normal Qutput Torque him) 16 19 50 140 245 520 1020 1700
20 19 50 150 310 580 1080 1800
25 Zg 60 165 340 580 1200 2000
28 22 60 165 340 580 1200 2000
30 22 60 165 340 650 1200 2000
35 22 60 165 340 650 1200 2000
2 40 22 60 165 340 650 1200 2000
50 22 60 165 340 650 1200 2000
70 19 60 165 340 650 1200 2000
80 18 60 165 340 650 1200 2000
100 18 60 165 340 650 1200 2000
120 = 2 155 315 610 1100 1950
140 N = 145 310 560 1100 1820
160 = = 120 310 500 1000 1650
200 = - 110 305 450 980 1750
B cy Stop Torque Nm 12 3~200 SfEFEHH 5146/3 Times of Nominal Output Torque
i Ly mm {2 3-200 3000 3000 3000 3000 3000 3000 2000
g b rpm 1.2 3~200 6000 6000 6000 6000 6000 6000 4000
BSEMe  wemn e w1 =1 =1 = = =1 =
?’ﬂrﬁgiﬂg:éacklash =i arcmin ; 1 :-—;gﬁ és §2 §2 ég és ég ég
- — 1 3~10 =8 =8 =8 =8 =8 =8 =8
oS M e P 2 12-100 =11 =11 =11 =11 =11 =11 =11
£ R4 Torsional Rigidity Nm/aremin = 4 o 3.200 3 8 14 25 50 145 230
e L N 1.2 3~200 780 1540 3270 6720 9500 14500 50000
Bitmn uzaing N 1.2 3~200 350 735 1650 3360 4710 7300 26000
{ B & & /Service Life hr 1.2 3~200 22000h
W HEn/Efficiency % ] 3~20 =D
2 25-200 =92%
e ‘o 1 3-20 0.9 2.1 6.4 13 25 51 83
a |25-200 | 1.2 2.5 8.8 18 30.1 54 95
Sy Tarpahi < 1.2 3-200 (-15C+90C)
HiLubrication 1.2 3~200 £ A 8B BE ( Synthetic Grease )
W% 4 Protection Ciass 1.2 3~200 Ip65
R34 15/Mounting position 1.2  3~200 f£&7A [ ( Any Direction )
SRR | o ARt ) dB(A) 1.2 3-200 =61 =63 =65 =68 =70 =72 =74
1.tb§h‘(g§:NinINout) o Note :Ratio(i=Nin/Nout) . . B
s e T s et ol e Habgstvodfugl s B, 5 e e gl e 4

and the service life is 11000hrs.

y/ 08




MODEL:HABR MODEL:HABR

¥ 1-Stage &[5 2-Stage
P#: 3,4,5,7,8,10,14,16,20 Lb®: 15,16,20,25,28,30,35,40,50,70,80,100,120,140,160,200
AR INPUT 6 Wit oUTPUT A TNPUT 6 Sl OUTRUT
A o = Al . A2 7 - C5 Al
% D7 01 == C3 AD /D_ c] ]G3
5 = SE ’Q - 5 - SE o o
- D8 c2 2 = D8 2 & -
el rall 5
by | S b3 | S
; D4
H1
kg S1 it s2 BH9 HidhfzR: S3 i HREEL: 51 gt s2 BH9 HElfE R §3

H2

D9 — D9 d; " M __ N g
o I =S @) (5 O

S3

=
AN D1 v D1 oDl Vi
1% & Specifications(Unit:mm): 1§ T Specifications(Unit:mm):

HABRY15-L1 | HABR1i2-L e T PR LT
“ ™12 (13) D16(14) ©22(20) ©32(25) @40 ®55 ®75 “ ®12 (13) ®16(14) ®22(20) ®32(25) ©40 ©55 ©75
B ©35 50 ©80 ®110 ®130 ©160 ® 180 35 ©50 80 ®110 ©130 160 ©180

D3 @8 (=11) 14 ( =19) ©19(=24) @24 ( =35) ©35(=42) ©35(=50) ©55(=55) D3 o8( =11) ©14( =19) ©19(=24) ©24(=35) ®35(=42) ©35(=50) ©55(=55)
BT ©30(30-50 050 (30-70) 70 (50-110) ®110 (50-130) ®114.3 (95-180) ©180 (95-200) 200 {180-255) B ©30(30-50)  ©50(30-70) ©70(50-110)  ©110(50-130) ®©114.3(95-180) ®180(95-200) ®200(180-255)
©50 ©70 ®100 ©130 165 ©215 ©250 D5 50 ®70 ©100 ©130 ©165 0215 ©250

D6 4-03.4 4-05.5 4-06.6 4-09 4-011 4-013 4-017 | D | 4-03.4 4-055 4-06.6 4-09 4-011 4-013 4-017

D7 ©45(30-70) ®70(70-130) ®90(70-145) ®145(70-165) ©200(90-215)  ®200(90-300 ) ©235(200-300) D7 ©45(30-70) ®70(70-130) ©90(70-145) ©145(70-165) ©200(90-215) ®200(90-300) ®©235(200-300)
| D PRV 4-M5X10L 4-MeX12L 4-Max2sL 4-M12X25L 4-M12X30L  4-M12X30L D8 4-M3X8L 4-M5X10L 4-M6X12L 4-MaX25L 4-M12X25L  4-M12X30L  4-M12X30L
| g || M4X0.7P M5X0.8P M8X1.25P M12X1.75P M16X2.0P M20X2.5P M20X2.5P D9 M4X0.7P M5X0.8P M8X1.25P M12X1.75P M16X2.0P M20X2.5P M20X2.5P
19 28.5 36.5 51 79 82 105 19 28.5 36.5 51 79 82 105
5.5 7 10 12 15 20 30 5.5 7 10 12 15 20 30
4 6 8 12 18 15 20 4 6 8 12 18 15 20
26 37 48 66 97 105 138 26 37 48 66 97 105 138
(85.5) (117) (157) (194) (255) (289) (346) (113) (134) (175) (227) (282) (322) (383)
(111.5) (147 ) (202 ) (267.5) (356) (387.5) (494.5) (139) (175) (242) (315.5) (420) (446) (530)
(3.5) (5) (7) (10) (10) (10) (10) | &7 (3.5) (5) (7) (10) (10) (10) (10)
(30) (32) (47) (62) (83) (118) (119) cs (30) (32) (47) (71 (83) (83) (150)
69.5 81.5 102.5 130 165 213.5 268 69.5 81.5 102.5 130 165 213.5 268
95.5 105 142 180 221 276.5 334 c10 95.5 105 143 180 221 240 296.5
42 60 90 115 142 180 220 42 60 90 115 142 180 220
42 60 90 130 142 180 220 42 60 90 130 142 180 220
3 2 3 5 5 6 / 3 2 3 5 5 6 /

S2 14 25 32 40 63 70 90 14 25 32 40 63 70 90

S3 15 18 24.5 35 43 59 79 15 18 245 35 43 59 79
| o8 ] 5 5 6 10 12 16 20 ETE 5 5 6 10 12 16 20
12 16 20 32 35 42 60 12 16 20 32 35 42 60

H1 8 14 20 25 28 28 90 8 14 20 25 28 28 90

H2 5 6 10 10 12 18 [ H2 | 3 5 6 10 10 12 18

y/ 10

L




- RS
BEREREETRY HAF SERIS ORDERING CODE

HAF-060-10 - S2 - P2- {i& - (914x30/D50x3/4-970-05.5)

Precision low noise series
B HRRERS
. =i R SDiEFERRES
H A F S e rl e S Motor Type Motor manufacturerm and model
BRER P1: BZEE P2: trAEERE
Backlash Class Precision Backlash P1 Standard Backlash P2

H 71 4 A S1:SLivil, TTHME Sk, AREME S3HHAAL

Output Shaft Keyway Solid Output Shaft(No Keyway) Standard(Keyway) OQutputforholes

tk #iRatio

$7:3,4,57,8,10

W:12,15,16,20,25,30,35,40,50,70,100
£94:60,64,72,80,90,100,120,144,150,160,180,200,240,258,288,320,384,512,600,800,1000

BIEH Z 5 Type HAF040,HAF060, HAF080,HAF090,HAF120,HAF160

=& (The product name)

— R RE I IEER

HAF series Reducer moment of inertia

s N
HAF040|HAF060[HAF080|HAF090| HAF120 | HAF160
HAF series
el il 3 0.15 0.62 3.38 3.38 11.74 33.74
4 0.15 0.62 3.21 3.21 11.22 31.95
1 5 0.15 0.61 3.25 3.25 11.11 31.95
EHEEF  kolom2 7 015 061 325 3.5 11.05 31.01
M BE 455 BE Performance characteristics
72 P P SR R 8 0.15 0.61 3.25 3.25 11.05 31.01
8 BA{E Faarcmin |, E{IFERE G(‘aar backlash ?s.less than 4arcmin, accurate positioning
WHRES Righastputericiency 10 015 061 316 316 11.03 31.01
: 95% efficiency at full load
EAMHFHEREIERS% . .
) - Low noise
R|R= *Grease lubrication free of maintenance 12-40 0.15 0.61 3.16 3.16 11.03 31.01
i B 0 e A Use high—viscosity, hard—to-separate grease to effectively 2
ERABHE. THOBNERIE, BUMLERBREYRE, & prevent grease leakage. In No need to change the grease during 50-100 0.15 0.61 3.16 3.16 11.03 31.01
ﬁ%ﬁ%ﬂﬁ%ﬁﬁifzﬁ;‘%ﬂ&. the life of the product,

11\ y/ 12




,‘,— - m ]
FH#Hi## K/Specifications Table
3 15 15 70 70 420

HEmH HET2N
Normal Output Torgue

2EHE
Emergency Stop Torque

AMEWNEENN
Normal Input Speed
RAHHFIENB
Max.Input Speed

HEEEP
Precision Backlash P1

HETMP2
Precision Backlash P2

e R4/ Torsional Rigidity
HIFE RN Max.Radial Force
FiFMEA Max.Axial Force

{ f #Ffr/Service Life

& n/Efficiency

Ei/Weight

{ERRE
Operating Temperature

iR/ Lubrication
PP /Protection Class

%475 [E/Mounting position

M2EE ( n1=3000rm, a4t )
Noise Level

#i(i=Nin/Nout)

(A

Nm

Nm
rpm

rpm

arcmin

arcmin

Nm/arcmin

N

hr

kg

dB(A)

e
HrH e 00rpmet, EAFHEHMEPOMIE,
SRR N BET26=60% of Tenor, B S, {#F &4 410000hrs,

12
e
142

ilr

2
12
1,2
1,2
1.2

1,2

100
3~100
3~100
3~100
3~10
12~-100
3-10
12~100
3~100
3~100
3~100
3~100
3~10
15~100
3~10
15~100
3~100
3~100
3~100
3~100

3~100

MODEL:HAF

B [R1-Stage
tt'ﬁ . 3.'4:5:7:8:1 0

125

14 32 100 100 230 550
13 33 100 100 220 550
13 33 80 80 180 410 #61 A\3 INPUT . i 1 SHOUTPUT
i3 45 80 80 180 410 G i
10 25 70 70 165 340 a1
15 15 70 70 110 420 52 il gl g
15 32 100 100 230 423 , = —H =T r i
15 32 110 110 260 650 & —ha]
12 32 110 110 260 650 H |
14 32 105 105 250 560 C2 o6 2
13 32 110 110 250 560 BHY
13 35 102 102 250 560 . | .
12| 35 106 106 260 660 e = ./j?/ it PlaTan
14 35 105 105 250 560 ¢ 8 ’
12 30 105 105 210 520
@Dl
10 25 90 90 195 570
31&% £ % H /14E/3Times of Nominal Output Torque
3500 3500 3000 3000 3000 2500 M &+ Specifications(Unit:mm):
6000 6000 5000 5000 5000 4000 HAF040-L1 | HAF060-L1 | HAF080-L1 HAF090—L 1 HAF120-L 1 HAF160-L1
T ey =4 <4 <4 <4 $12(13)  ¢14(16)  ¢20(22) $20 (22) $25 (32) 640
o e 6 g 2 o5 $26 ¢ 50 $80 $80 ¢ 110 ¢ 130
= = = = = B ¢8(<11) $14(<19) ¢19(<24) ¢19(<24)  $24(<35) $35 ( <42)
=8 =8 =8 =8 =8 =8 $30 (30-50) ¢50(30-70) ¢70 (50-110) $70 (50-110) ¢ 110 (50-130) ¢ 114.3 (100-180)
=10 =10 =10 =10 =10 =10 ¢ 48 $ 70 $ 100 100 $ 130 $ 185
o s " 7 e o0 B 4045 4-$55 4-$65 4-¢65 49 4-¢10
$45 (45-70) 470 (70-130) 90 (70-145) 90 (70-145) 145 (70-165) ¢200 ( 90-230)
305 680 1770 1770 3100 6480 | Ds  EEVIREN 4-M5 x 10L 4-M6 x 12L 4-M6 x 12L 4-M8 x 16L 4-M12 x 24L
160 345 880 880 1550 3305 B wvaxo7p M5 x 1.0P 4-M6x12P  4-M6x12P  4-M10x1.5P 4-M16 x 2.0P
20000h 18 28 36 36 50 80
s 3 3 3 3 4 5
=ie E=E 4 10 10 10 15 18
=94% 22,5 32 40 40 55 86
0.73 1.1 3 3 8 20.5 - 4 6 7 10 10
o5 1s is se . o s 32 33 47.2 41 68 82
: : ' : : 88 110 140.25 155 212 293
(-15T~+90T ) 2 2 3 3 5 7
SRR | Synthetic Grease) 14 25 30 30 40 65
i 135 16(18) 22.2(24.5) 22.2(24.5) 28(35) 43
fEEFTmE ( Any Direction ) “ 4 2 8 8 8 i
42 60 80 90 120 160
=58 =60 =64 =64 =67 =70 42 60 80 90 120 178
el Pty : . ELOESAATEREARY (RS HERRT. i Sl bl o el ol bl b bl o
iot When the utpu i nupbec 1100 n ot b cnntar st Ut 2 RARU AR LR L ER ., NG 5-The Mtk aich caa b st S9N S ETA At 18 LU e Motor S8,

the service life is 10000hrs.

y/ 14




MODEL:HAF Bli% =5 % ik R 5

?sg?_fztzgfzo,25,30,35,40,50,70,1oo Round flange precision reducer series

i A INPUT B it R OUTPUT
s HAE series [
C1
52 |

I _ A
= . _‘_“ﬁ 2l
. £2 — C5.|
D8 C6 [

HEEL: S1 M - 52 =
o i
¥ S
Pl @Dl
& F Specifications(Unit:mm): HAE series
Taiwan technology

HAF040-L2 | HAF060-L2 | HAF080-L2 HAF090-L2 HAF120-L2 HAF160-L2
B 212(13) $14 (16) $20 (22) $20 (22) $25 (32) $ 40
E ¢ 26 $ 50 ¢80 ¢80 ¢ 110 ¢ 130
B 68 (<11) ¢14(<19) 419 (<24) $19 ( <24) $24 (<35) ¢35 (<42) ,
BB 530 (30-50) 50 (30-70) 70 (50-110) 70 (50-110) & 110 (50-130) ¢114.3 (100-180) hils S
| s Y 70 $100 $ 100 $130 185
B 4045 4-455 4-$6.5 4-$6.5 4-49 4-$10
645 (45-70) $70 (70-130) 90 (70-145) $90 (70-145) ¢ 145 (70-165) 200 ( 90-230)
BT 4M4ax8L  4-M5x10L  4-M6ex 12l 4-M6 x 12L 4-M8 x 16L 4-M12 x 24L
B v4xo7pP M5 x 1.0P 4-M6 x 1.2P 4-M6x12P  4-M10x1.5P 4-M16 x 2.0P
18 28 36 36 50 80
3 3 3 3 4 5
4 10 10 10 15 18 M BE 44 B Performance characteristics
205 32 40 40 565 86
4 4 6 7 10 10 “[B] #2 51 P& R “Low return clearance
30 33 472 41 68 82 B #h #5 PA R Faarcmin | E i Gtt:sar backlash ?slless than 4arcmin, accurate positioning
88 127 159.75 180 244 293 RS High output efficiency
31 o) 3 3 5 7 ‘ . y 95% efficiency at full load
124 25 30 30 40 65 ERMBHENRBE5% “Low noise
135 16(18) 20.2(24.5) 20.2(24.5) 28(35) 43 RIRE $rense ibiicalionfresof mainisnance
n 4 5 6 6 8 12 i R G M Use high-viscosity, hard-to-separate grease to effectively
42 60 85 90 120 160 ERSHE. AESBENEBIE, SRMHLEBENRE. & prevent grease leakage. In No need to change the grease during
42 60 85 90 120 178 EREGPARTERBEE, the life of the product,

. WATREBER S (HESHFERT, MNote 1 Insidre of()isthe optional ra?ge of sizes outside of () is thie stan:‘lard sizers,
i gﬂ;gggggg;gjgggggm NO16 8 Tho Gt Sivs 6 b (e e Soro s 10 The UM amers motar s,

15 \§ y/ 16




AR TS SRR 1‘~§:‘;€/Spemf|cat|ons Table
AR SERIS DRDERING BODE

.:

HAE -060-10 - S2 - P2- {i& - (914x30/050x3/4-070-05.5) 125
4 14 32 100 100 230 550
R R R ; 5 13 33 100 100 220 550
BirBS OkFERRES 7 13 33 80 80 180 410
Motor Type Motor manufacturerm and model 8 13 33 80 80 180 410
EHEESR P1: BEEE P2: tRAEEB 10 10 25 70 70 165 370

Backlash Class Precision Backlash P1 Standard Backlash P2 Nim
BEHHHAET2N 12 15 15 70 70 110 420
H SUstinl, TRl SRR, ARl S3HEHATL HomalSdluETomue 15 15 32 100 100 230 423
ttﬁﬁz?;pm Shaft Keyway Solid Output Shaft(No Keyway) Standard(Keyway) Output for holes s = 45 110 40 580 =
B35, 34,57,8,10 20 12 32 110 110 260 650
¥ 12,15,16,20,25,30,35,40,50,70,80,100 25 14 32 105 s 28000 (=00
£%5. 60,64,72,80,90,100,120,144,150,160,180,200,240,258,288,320,384,512,600,800,1000 > 30 - - = P — —
B R 5 Type HAE040,HAE060,HAF080,HAE090,HAE120 HAE160 35 13 35 102 102 250 560
40 12 35 106 106 260 660
= Eh & FR(The product name) g5 s a5 T = 250 g
70 12 30 105 105 210 520
mﬁ*ﬁigﬂﬁﬁi 100 10 25 90 90 185 480
. = = ?nzg?ncy Stop Torque Nm 1.2 3-100 31E%AEHiH h46/3Times of Nominal Output Torque

Reducer moment of inertia

Normal Input Speed

ﬁﬁﬁfﬁi‘;g rpm 1,2 3~100 6000 6000 5000 5000 5000 4000
B HAEQ040| HAE060 | HAEO8O|HAE090| HAE0120 |HAE0160 eunr _— ] o = . =3 =4 = =
Precision Backlash P1

IIA

2 12~100 =6 =6 =6 =6 =6 =6
11.74 33.74 e - = = = -
mEE P2 arcmin ! S0 =3 =8 =8 =8 =8 =8
Precision Backlash P2 o 12-100 =10 =10 =10 =10 =10 =10
4 0.15 0.62 3.21 3.21 11.22 31.95 HERE/Torsional Rigidity  Nm/aremin 1,2 3~100 1.1 3 9.2 9.2 15 50
FEiF2 @5 Max.Radial Force N 1.2 3~100 305 680 1770 1770 3100 6480
1 S 0.15 0.61 3.25 3.25 .11 31.95 FEFHEH Max Axial Force N 152 3~100 160 345 880 880 1550 3305
A% @/Service Life hr 1,2 3~100 20000h
EHEER  kolom2 7 0.15 061 325 3.25 11.05 31.01
n ' ’ ' ’ ’ ' 1 3~10 =97%
FEn/Efficiency Yo
2 15~100 =94%
8 0.15 0.61 3.25 3.25 11.05 31.01
1 1 3-10 0.7 il 3 3 8.5 21.5
E#/Weight kg
2 15~100 1 1.4 3.6 3.6 9.5 26
10 0.15 0.61 3.16 3.16 11.03 31.01 BERE
Operating Temperature T 1.2 3~100 (-15T~+90T )
7 Lubrication 1,2 3~100 & HiAEMmAE ( Synthetic Grease )
2 12-40 0.15 0.61 3.16 30k6 11.03 31.01
Fi#P% &/ Protection Ciass 1.2 3~100 IP65
0-100 0.1 061 316 3.16 11.03 31.0 7 Bomnposten ve S0 il
50-1 A5 5 Y A ; 1.01
WRE(E ( n1=3000mm, T HH: ) e _ _ 5 _ =
A dB(A) 1,2 3~100 =53 =60 =65 =5 =67 =70
1.tE #r(i=Nin/Nout) Note :Ratio(i=Nin/Nout)
2 85 HEES100rpmit, TEA THHEDORE ., Note :When the output rotation number is 100 rpm, it acts on the center position of the output shaft.
3.EK ﬂﬂlij]'EET?B=60% of T2NOT.Eﬁi§§§. {#H ﬁﬁ-j{ﬂ 0000hrs, Mote :The maximum acceleration force is T2B=60% of T2NOT, continuous continuous rotation, and

the service life is 10000hrs.

17\ /&R




MODEL:HAE

MODEL:HAE

B E21-Stage
tb®: 3,4,5,7,8,10

iy H %R OUTPUT

D3
D4

figr A3 INPUT 7
A2 4
Cl td
= e
B2
] 2 s
6
HiflE L S il sz

201

M#& 3 Specifications(Unit:mm):

HAE040-L1 | HAE060-L1
$12 (13) $14 (16)
426 $40
68 (<11) ¢14(<14)
BT 530 (30-50) ¢50 (30-70)
A-Max8L  4-M5x10L
o Y ve2
B ;45 (45-70) $70 (70-130)
BT s maxsL  4-Msx10L
B vsxo7p M5 x 1.0P
18 28
3 3
s 10
B 205 32
4 4
| co Y 33
88 110
2 2
14 25
135 16(18)
4 5
42 60
42 60
T T
E3 HART AREEABIRTFIRES

HAE080-L1 | HAE090-Lf
$20 (22) $20 (22) $25(32) $ 40

$ 60 $ 60 $80 $130
619 ( <24) 19 ( <24) $24 (<32) $35 ( <42)
$70 (50-110) ¢70 (50-110) ¢110 (50-130) ¢ 114.3 ( 100-180)
4-M6 x 12L 4-M6 x 12L 4-M10 x 20L 4-M12 x 24L

$70 $70 ¢ 100 $ 145
$90 (70-145) ¢ 90 (70-145) ¢ 145 (70-165) 200 ( 90-230)
4-M6 x 12L 4-M6 x 12L 4-M8 x 16L 4-M12 x 24L
4-M6 x 1.2P 4-M6 x 1.2P 4-M10 x 1.5P 4-M16 x 2.0P

36 36 50 80

3 3 4 5

10 10 15 18

40 40 55 86

7 7 10 10

41 41 68 82

155 155 212 293

3 3 5 7

30 30 40 65
22.2(24.5) 22.2(24.5) 28(35) 43

6 6 8 12

80 90 120 160

80 90 120 178

Mote 1: Inside of()isthe optional range of sizes outside of () is the standard size s.
Mote 2: The reducer output shaft size and length can be customized for custmers.

1 5

®b1

Note 3: The input size can be customized according to the customer's motor size

& E2-Stage
EL®%: 12,15,16,20,30,35,40,50,70,100

iy A\ i INPUT c7 i H B OUTPUT
A2 .
C4

{50 C3

&
|
]

AL
D2
1

e

51 T

Cc2 Ch
C6

b S1

A s2

@Dl @D1

H &3k Specifications(Unit:mm):

$12 (13) $14 (16) $20 (22) $20 (22) $25 (32) ¢ 40
$26 $40 $ 60 $ 60 $80 $ 130
68 (<11) ¢14(<14) $19(=<24) $19(=<24) $24 (<32) $35 (<42)
$30 (30-50) $50(30-70) 70 (50-110) 470 (50-110) ¢ 110 (50-130) ¢ 114.3 (100-180)
4-M4x8L  4-M5x10L  4-M6x12L  4-MBx12L 4-M10 x 20L 4-M12 x 24L
| pe | $34 $ 52 $ 70 $ 70 $ 100 $ 145
$45 (45-70) $70 (70-130) 90 (70-145) $90 (70-145) 145 (70-165) 200 (90-230)
BT 4 Max8L  4-M5x10L  4-MBx12L  4-MBx12L 4-M8 x 16L 4-M12 x 24L
B vso7r M5x1.0P  4-MBx12P  4-M6x12P  4-M10x1.5P 4-M16 % 2.0P
18 28 36 36 50 80
3 3 3 3 4 5
4 10 10 10 15 18

e 225 32 40 40 55 86

cs 7 4 7 7 10 10
32 33 41 41 68 82
e 105 127 178 178 244 340
s1 ) 2 3 3 5 7

14 25 30 30 40 65
135 16(18) 22.2(24.5) 22.2(24.5) 28(35) 43
| B 4 5 6 6 8 12
42 60 80 90 120 160
42 60 80 90 120 178

1 OB AT EAR T (SN IR R, b o LIRS i M el T e

E3 AR ARIES A LR T R T8 Note 3: The input size can be customized according to the customer's motor size

y/ 20



= £ 1 = A 2B R 5]

High rigidity and high torque series

HAD series

4 BE 45 Bh Performance characteristics
“[a] 32 [ PE 4K “Low return clearance

" , i Gear backlash is less than 1arcmin, accurate positioning
EERERIK F1arcmin | AR

“High torsional rigidity and torque

"1 S RO A 1 K 8 Adopt one-piece dual support structure domain design, which
FA—E T ESMERE, BXRERSAERAE greatly improves rigidity and torque
‘HHNES *High output efficiency

S EHBENRERIT% 97% efficiency at full load
p——— *Low noise

NS Use helical f iet ti

se helical gears for quiet operation
o

{52 P 94 1 e 2 9 *Grease lubrication free of maintenance
*3rh A& PR X =

i A R S M Use high-viscosity, hard-to-separate grease to effectively

EHEME. ASo8NEEE, ARBLERBEIRE. & prevent grease leakage. In No need to change the grease during
EmBSalRETERERE,

the life of the product,

21§

AR
HAD SERIS ORDERING CODE

HAD-064-10 - S3 - P1- 5i& - (©14x30/950x3/4-070-05.5)

LS RRR T

SRS SirHEMEES
Motor Type Motor manufacturerm and model

BHEEL PO: SBEERE P1:. BEYHRE P2: tREERK
Backlash Class Micro Backlash PO Precision Backlash P1 Standard Backlash P2

H g iE S3:HH A fL
Output Shaft Keyway Output for holes

Ltk #Ratio
B3, 45,7,8,10
W% . 16,20,25,,35,40,50,70,100

IR %ES Type HAD 047,HAD 064,HAD 090,HAD 110,HAD 140,HAD 200,HAD 255

=S ZFR(The product name)

MEHENEER

Reducer momentofinertia

HAD 047 | HAD 064 | HAD 090 |HAD 110 HAD 140 | HAD 200 | HAD255
4

0.03 0.14 0.51 2.87 7.2 24.23 58.32

5 0.03 0.13 0.48 2.72 7.59 23.69 54,27
1
= 7 0.03 0.13 0.46 2.65 7.26 22.88 51237
EHRER  kolom2
8 0.03 0.13 0.46 2.65 7.26 22.88 51.37
10 0.03 0.13 0.45 2.59 el 22.61 51.65
16-40 0.03 0.03 0.14 0.48 2.82 754 2412
2

50-100 0.03 0.03 0.14 0.45 2.63 7.09 22.84




MODEL:HAD

EH[g1-Stage
te#: 4,5,7,8,10

,‘-'E'. ] ] n
H# i E/Specifications Table
4 20 49 280 560

135 1100 1750
5 23 60 160 335 655 1250 2050
1 7 20 50 140 310 550 1150 1900 i,
8 i A i INPUT
8 18 50 125 280 520 1080 1700 =
10 15 47 110 275 510 1100 1850 *Tilfi 7 Al
3 C6
16 20 49 135 280 560 1100 1750
RS HHET2N N —8
Normal Output Torque 20 20 49 130 280 560 1100 1750 B —
25 23 60 160 335 650 1250 2050 _%é @l
2 35 23 60 160 335 650 1250 2050 = = g 5 g =z 5 : g 2
40 23 60 160 335 650 1250 2050 7 |
=
50 23 60 160 Zrels 650 1250 1700 E -
70 20 55 140 335 550 1150 1900 M:‘
100 17 60 35 325 600 1200 1980 5 2 E
Enng%ﬁcysmpmque Nm 1,2 4-100 SfEEES H /146/3 Times of Nominal Output Torque
UEEAWEIN rom 12 4-100 5000 5000 4000 4000 3000 3000 2000
e gt rpm 1,2 4-100 10000 10000 8000 8000 6000 6000 4000
BP0 U =1 =1 =1 =1 =1 =1 =1 M H& FK Specifications(Unit:mm):
Micro Backlash PO : = : =
12-100 =3 =3 =3 =3 =3 =3 =3
§ R~t/Size | HADO47-11 | HAD064-L1 | HADO90-L1 HAD110-11 | HAD140-L1 HAD200-11 | HAD255-L1
HEEBPT S | ] =10 =4 = & = =3 =3 =3 012 ©20 031.5 040 050 ®80 ©100
Pracision Backlash P1 »  12-100 =5 =5 =5 =5 =5 =5 =5 028 ©40 063 ©80 ©100 160 ©180
e == = =z =z - = 047 64 ®90 ©110 140 200 255
mEWER2  aromin 072 086 ©118 ©145 ®175 0247 ©300
recision Backlasl = — == == = = =
2 20-100 =7 =7 =7 =7 =7 =7 = ®8(=11) ®14(=14) ®19(=24) ©24(=35)  ©35(=42)  ©35(=50) ®55(=55)
mme iy e a0 ool 13 31 82 151 460 1015 BT ©30(30-50)  ©50(=70)  ©70(50-110) ®110(50-130) ®114.3(95-180) ©114.3(95-180) ©200(180-255)
K E i 14EM2rB3 Nm 1o  4-100 44 126 237 435 1320 3180 6050 il 315 >0 o3 80 125 140
Max.Bending Moment ' = 67 79 109 135 168 233 280
el N 12 4-100 1080 1110 2150 3720 8330 16800 29550 00 LS ©5xRES ©ExXRET O EXRET OBXRET © 10xRE10 ©12XRE10
A% f/Service Life hr 12 4~100 22000h [ D10 EERVEEH 2 7-M5XRES  7-MOXRET2  11-MGXRE12  11-M8xRE17 11-MIOKRE22  12-M16xRE30
1 T g =Tl 8-03.4 8-04.5 8-055 8-055 12-06.6 12-09 16-©3.5
##n/Efficiency o P 046(22-70)  ©70(45-90)  ©90 (70-145) ®©145 (70-145) ®200 (90-215) ©200 (90-300] ®235 (200-300)
2 20~100 Hade M3-M4 M4-M5 M5-M8 M6-M8 M8-M12 MB-M12 M12
1 | 4-t0 || oz 1.3 3.1 6.0 13.5 32 57.2 3 3 6 6 6 8 12
EE/Weight kg
2 20-100 1.1 2.2 5.5 8.0 17.8 a7 71.8 : z 10 10 s 15 =0
e 100 5 4 7 8 10 12 18
Operating Temperature T Lo (-15C+90°C) 19.5 19.5 30 29 38 50 66
##Lubrcaton 1.2 4-100 2 ARHAMAE ( Synthetic Grease ) 4 8 12 12 12 16 20
B5 4% BProtection Ciass 1,2 4-100 Ip65 3.5 4-5 £ 1 g oo 511 1010
e P e 30 28 (28-34) 32 (32-59) 47 (47-64) 75(75-83)  85(85-117) 116 (85-116)
[AMour n : - e 4 =
i . fERT7 (AnyDi rection ) 70(70-75) 82.5(82.5-88) 104.5(104.5-118.5) 135(135-150)  176(176-192) 225.5(225.5-246) 268.5(268.5-288)
& 1= 8 = - -
MEE (m-soOpmER®)  gpA) 1,2 4-100 =58 =58 =60 =63 =65 =67 =70 [ a1 42 60(40~60) 90(60-130)  120(120-130)  130(130-180)  180(180~220) 220
1.EE #1(i=Nin/Nout) Note :Ratio(i=Nin/Nout) e’ = = Note 1: Inside of()isthe optional range of sizes outside of () is the standard size s.
2. E#HE100 m, ERTHHMEPOREE. Note :When the output rotation number is 100 rpm, it acts on the center position of the output shaft. ﬁﬂﬁ}%ﬁﬁﬁir E’;"hktf?gﬁﬂ‘o ; j i
3.%7(7]5!&3‘]35[?;2:50% of TzNor.ﬁggﬁ‘. %S H11000hrs, Note :‘{';1;;Sn;:;\‘):iizl;umgf:?lﬁgggﬁpsforce is T2B=60% of T2NOT, continuous continuous rotation, and #%ﬁ%éﬁiﬁ%—r&é@ﬁﬁD I:lgttg %;;‘z irﬁgﬁfs?i:*_?::tg:tbseh;itstséﬁiggg la?:r;%trr&;agntgetl'f:gtuc,sTc:;eec:'fso:n%L:E‘rrg;ezr:'

23 \§ y/ 24




MODEL:HAD MODEL:HAD

2 _Stage —— !
tL#: 16,20,25,35,40,50,70,100 #i 3% R - B Dimensions

g dii A i INPUT
T e o
3 7
2 ' 6 i HHOUTPUT &) B40UTPUT
P g 8-(4. 5
AD
o) $|r B
= I B S [ [ ' 2 L
i i |
= L
=
C5 c2 =
i 50U TPUT ] HH SHOUTPUT $41 I SROUTPUT
& & Specifications(Unit:mm): 0 i . 12-%6. 6
D AGHTIRT SHTRT
HAD047-L2 | HADO064-L2 | HAD090-L2 | HAD110-L2 | HAD140-L2 | HAD200-L2 | HAD255-L2 *
012 020 ©31.5 40 50 80 100 LM T
| b2 | ©28 ©40 ©63 ©80 ©100 ©160 ©180
047 064 ®90 0110 ©140 ®200 ©255
072 86 ©118 ©145 ©175 ©247 ©300
08(=11) 14(=14) 019(=24) ©24(=35) ©35(=42) ®35(=50) ®55(=55)
D6 ©30(30-50) ®50(=70)  ©70(50-110) ®110(50-130) ®114.3(95-180)®114.3(95-180) ®200(180-255)
D7 20 315 50 63 80 125 140
| ps | 67 79 109 135 168 233 280
“ O3xiRED OEXFEES DEXIEET OEXRET CEXRET D12xEE12 D 12xRE10
| Do EERVER 7-M5xR 8 7-MBXREE135  11-M6xiRE135  11-MBxRE16  11-M10xRE22  12-M16xRE30 w0200 omo2ss
8-03.4 L ¥ g s E X e
8-04.5 8-®5.5 8-®5.5 12-06.6 12-09 16-03.5 FO— & BEOUTPUT
©46(22-70)  ©70(45-90)  ©90(70-145) ©145(70-145) 200 (90-215) ©200(90-300) ®235 (200-300) 12-69 0 16-513. 5
D13 M3-M4 M4-M5 M5-M8 M6-M8 M8-M12 M8-M12 Mi2 LOHTELO i ' 12HT 10
3 3 6 6 6 8 12 a8
c2 7 7 10 10 14.5 15 20 dipteck e L
c3 5 4 7 8 10 12 18 s
19.5 19.5 30 29 38 50 66
4 8 12 12 12 16 20
3.5 4-55 5-55 5-20 8-15 6-8 10-19
30 28 (28-34) 32 (32-44) 47 (47-64) 64 (64-82) 75 (75-82 ) 73 (73-117)
97.5(97.5-101) 109.5(109.5-107 ) 138(122-129)  175(166-166)  239.5(218-208) 260(250.5-252) 332.5(320-349.5)
42 60(40~60) 90(60~80 ) 120(130~130)  130(130-180)  180(130-180)  180(180-220)
e 3 . = - Note 1: Inside of()isthe optional range of sizes outside of () is the standard size s.
'%; ( ﬁﬁ@%g%ﬁ%%i% fﬁi%’;zg'ﬁﬁ_ﬂ MNote 2: Thé radu(g;r om'fppfjtI shaft sizge and I:-.!anth léar: be ctgtlomized for custnlwrs.
:‘£3 WA R AREE BRI % Note 3: The input size can be customized according to the customer's motor size




RARNMESHERS

HADR series

P BE 45 Bh

*[E] 72 i BR A

E R PR K F2arcmin , E L5

“HE T R A AR

FA-EREZEERER, BXREHMREE

L HMEANEEE7%

ERE

ERANERTHEN

i AR R R e M R

FHEHME. Ao EAREE, FUMEREERR. £
EmEalNETEREREE,

RETEEE

HRURBERERREXRER, BEREZTVHERIOES
H, EREEH

27§

Corner high rigidity high torque series

Performance characteristics

“Low return clearance

Gearbacklash is less than 2arcmin, accurate positioning

“High torsional rigidity and torque

Adopt one-piece dual support structure domain design, which
greatly improves rigidity and torque

“High output efficiency

97% efficiency at full load

“Low noise

Use helical gears for quiet operation

“Grease lubrication free of maintenance

Use high-viscosity, hard-to-separate grease to effectively
prevent grease leakage. In No need to change the grease during
the life of the product,

“ Flexible installation space

The right-angle reducer uses spiral bevel gears, and the motor
connection can be bent at 90 degrees, saving installation space

HEIAES
HADR SERIS ORDERING CODE

HADR-064-10 - S3 - P1- 5i# - (014x30/®50x3/4-070-05.5)

| EHEHEERT
OiABE DEFEERES
Motor Type Motor manufacturerm and model

BRER PO: 5HEEER P1: HEER P2: fRAELEEE
Backlash Class Micro Backlash PO Precision Backlash P1 Standard Backlash P2

tH 7 2 A S3:Hrt A7l
Output Shaft Keyway Output for holes

Lk #Ratio
$3. 4,5,7,8,10,14,16,20
W 16,20,25,35,40,50,70,100,140,200

iR %% Type HADR047,HADR064,HADR090,HADR110,HADR140,HADR200,HADR255

7= & & #R(The product name)

IR EEYIRER

Reducer moment of inertia

HADR 047| HADR 064 HADR 090| HADR 110 HADR 140 | HADR 200| HADR255
4 009 035 685 235 689

2.21 135.2
5 0.09 0.35 2.21 6.85 235 68.9  135.2
1
7 0.09 0.35 2.21 685 235 689 1352
EHBER  kg/em2 8 0.09 0.35 2.21 6.85 23.5 68.9 135.2
10 0.09 0.35 2.21 6.85 235 689 1352
16-40  0.09 0.08 1.91 626  21.9 656  119.8
2

50-100 0.09 0.09 0.36 2.24 6.54 23.4 69




2= J mgFn n
B A K /Specifications Table
& B | B | bb®
4 20 49 280 560

135 1100 1750

MODEL:HADR

B Ek1-Stage

5 23 60 160 335 655 1250 2050 w&: 4,5,7,8,10,14,16,20

7 20 50 140 310 550 1150 1900

8 18 50 125 280 520 1080 1700 c12 )R [NPUT

1 10 15 47 110 265 510 970 1750 c10 U Al
c7 )
14 - 40 145 310 560 1100 1850 o B 0o
=

16 18 50 125 280 520 1080 1700 £y

20 - 27 60 165 400 770 1250
EE i HIET2N 16 20 49 135 280 560 1100 1750 %

Nm ool | | o ]Iz
Normal Output Torque = = J L
P e 20 20 49 135 280 560 1100 1750 amhFas

25 23 61 160 335 650 1250 2050 =

35 23 61 160 335 650 1250 2050 = == =

40 23 61 160 335 650 1250 2050 a & 2 Ok Y n

2 50 23 61 160 335 650 1250 2050 i
70 20 61 140 335 650 1250 2050 DL S
D2

100 it 61 150 335 650 1250 2050

140 " s 145 310 560 1100 1850 ﬂ*ﬁi SDECifiCationS(Unit:mm):
g R 12 4200 & FEH i 1 55/3Times of Nominal Output Torque b8(=11) d14(<14) d19(<24)  $24(<35) 35(<42) $35(=50) 55(=55)
.ﬁ?ﬁfﬁﬁ"& :m o 1.2 420 5000 5000 4000 4000 3000 3000 2000 B s060-50) $50(30-70) $70(50-130)  110(50-130) 114.3(95-180) 114.3(95-180) $200(180-255)

3 70(45-90 90(70~145 145(70~145 200(90~215 200(90~300 235(200-300

BAHAsEN18 em 12 4-200 10000 10000 8000 8000 6000 6000 4000 BRI occoo-70)  O70(45-90) | 690(70-145) | S145(70-145)  0200(00-215)  $200(90-300) 235 :

Max.Input Speed i “ M4 M4-M5 M5-M8 M8 M8~M12 M12 Mi2

BT PO _ 1 4~20 =2 =2 =2 =2 =2 =2 =2 12 20 31.5 40 50 80 100

Micro Backlash PO aremn o e - - = - = “

2 20~200 =4 =4 =4 =4 =4 =4 =4 “ 28 40 63 80 100 160 180

Sinr: ‘ 1 4-20 = = = - za =4 =2 47 64 90 110 140 200 255

Precikr geckistfa o 2 20~200 = . . - _ : m 72 86 118 145 179 247 300

=7 =7 =7 =7 =7 =7 =7 m 20 31.5 50 63 80 125 140

A P2 e 1420 =6 =6 =6 =6 =6 =6 =6 4-M3xEB4  T-M5xRES  7-MExRE13.5 11-M6xREI3.5 11-MBx RAE17  11-M10x RE22 12-M16 x RE30

Standard Backlash P2 2 20-200 =9 =9 -9 - -9 =9 =0 67 79 109 135 168 233 280

A Torsional Rigidity Nm/aremin 4 2 4~200 7 13 31 82 151 460 1015 8-3.4 8-04.5 8-$5.5 8-5.5 12-46.6 12-9 16-413.5

H rl x IR x IR x i’ x IR x % B x I x IR

e Nmo 12 4200 44 126 237 435 1320 3180 6050 d’aa:’% s — ik ot s s i é o - 9 G = i

BiFEAHF2a1B2 - . 6 19 1

dpesiion N 1,2 4~200 1080 1110 2850 3220 10590 16800 29550 5 8 3 20 50 20 24

{E 7 Bfp/Service Life il 1,2 4-200 22000h 30 38.5 55 65 65 85 116

213.5 268.5

#H&n/Efficiency o 1 4-20 =95 74 72 101.5 130 130

5> 20-200 5 104 106 150 193 103 316 398.5

~ 4 8 12 12 12 16 20

& Weight @ 1 420 4 22 61 107 221 512 865 . 3 . z - 5 7

2 20200 15 2.9 7.2 125 278 68.5  98.7 7 7 10 10 15 15 20

{giﬁﬁg Temperature i 1 .2 4~200 ( -1 5‘C~+90°C } 4 4 7 8 w 12 18

#9#/Lubrication 1,2 4-200 £/ iEBHAE ( Synthetic Grease ) ) L) o =2 i > 66
c 60 61.5 91.1 107 142.5 189 216

Ehi$AZE &/Protection Class 192 4-200 Ip65

’ . _ _ c12 107.5 111 166.1 201 263.5 334.5 392

% ¥ F @/Mounting Position 1,2 4-200 E%ﬁ 6] ( A ny Direction ) 42 60 90(90-90 ) 150130 130(130-220) 190 220

RREE ( n1=3000rpm, % £k )

MNoise L:lﬂ dB(A) 1,2 4~200 =61 =63 =65 =68 <70 <72 =74 HAHETER T (VES D ERT, Mote 1: Inside of()isthe optional range of sizes outside of () is the standard size s.
1.kt #(i=Nin/Nout) Note :Ratio(i=Nin/Nout) AERAT L h = P .rk-‘i\}ﬂ%ﬁu Note 2: The reducer output shaft size and length can be customlzed.forcustmfars.
2.5 E S 00rpmit, fER FH N OIS, Note :When the output rotation number is 100 rpm, it acts on the center position of the output shaft. MiREE LB R TIEEES Note 3: The input size can be customized according to the customer's motor size
3.2 AN BB T20=60% of Tenot, FELETER, (£ &4 311000hrs, Note :m; ;T:::i|{r:'r\19ul?eaigc1e1lggaol;ﬂg Iforce is T2B=60% of T2NOT, continuous continuous rotation, and

29\§ y/ 30




MODEL:HADR

& 2-Stage

tb®y: 16,20,25,35,40,50,70,100,140,200

Cl2
C10 Cll
o £l CH 9
=
K
o T el o w i L \
al =l alg a8a
L
~
= e &
= = I 3:-0
% (L S
i
AN
D2

M 1& F Specifications(Unit:mm):

R~f/Size | HADRO47-L2 | HADR064-L2 | HADR090-L2 | HADR110-L2 | HADR140-L2 | HADR200-L2 | HADR255-L2
)

iy A3 INPUT
Al

B d8(=11) b14(<14) $19(<24) $24(<35 $35(<42) $35(<50) ¢ 55(=55)
B ©80(30-50)  ¢50(30-70)  $70(50-130) 110(50-130) b114.3(95-180) 114.3(95-180) db200(180-255)
46(22-70)  $70(45-90) 90(70~145) 145(70~145) H200(90-215)  h200(90~300)  db235(200~300)
| D4 | M4 M4-~M5 M5-M8 M8 M8~M12 M12 Mi2
| D5 | 12 20 31.5 40 50 80 100
| De | 28 40 63 80 100 160 180
47 64 90 110 140 200 255
| D8 | 72 86 118 145 179 247 300
| D9 | 20 31.5 50 63 80 125 140
BT - MaxRE4 7-M5xRES 7-M6x RE135 11-M6xREIS5 11-MBx RE16 11-MIOxFE22 12-M16 X RE30
67 79 109 135 168 233 280

D12 8-b3.4 8-4.5 8-$5.5 8-5.5 12-$6.6 12-¢9 16-$ 135
d3x RE6  G5xRME6  G6xRE7  G6XRET  GBxRET  G12xREI2  HI2xREI0
3.5 5 7 8.5 8 8 6
8 6 9.5 5 36.5 29.5 24

c3 | 30 38.5 435 ” 84.5 84.5 116

c4 74 72 75.5 pom— 149.5 159 2135
104.25 106 110.5 162.5 213.5 316 340
4 8 12 12 12 16 20
3 3 6 6 6 8 12
% ¥ 10 10 15 15 20
4 4 7 8 10 12 18
19.5 19.5 30 29 38 50 66
79 88.5 90 135.6 157 210.9 293

ci2 122 148 160 2296 285 350.9 403
42 60 90(90~ 80 ) 130-130  130(130-180) 180 220
£ JEERATRARERS (EBIDIERRT Not 2. The reduser pulput shat Sizs and 16ngth 68N b6 dubIomizd Tor SuEters.
3 MR AIRIES AR RS Mote 3: The input size can be customized according to the customer's motor size

MODEL:HADR

M RTE Dimensions

g L EROUTPUT

i SR OUTPUT

7

I IROUTPUT i B OUTPUT

DEHTIRT

3

iy 1 wOUTPUT il tH35OUTPUT
12-¢9 30" 16-(13. 5
10HTi%10 ; 1ZHTI£10
o
11-M10%22L ﬁ 11-M16%30L

L EROUTPUT

12-(6. 6
8HTIAT

11-M8*17TL

y/ 32




- —— MR 115
= 118 /5 ¥ i 2 S VRB SERLS ORDERING CODE
High torque and high speed series VRB -060-10 - S1 - P1- &i# - (014x30/050x3/4-070-05.5)

- AL R R~
| VRB se I’IeS_ DixHE DR RRS

Motor Type Motor manufacturerm and model

ERER P1: IBEEMRE P2: tREHERK
Backlash Class Precision Backlash P1 Standard Backlash P2

H 7 % 5 S1:3i, TLHETE SR, AREME S HWHAT

Output Shaft Keyway Solid Output Shaft(No Keyway) Standard(Keyway) Output forholes

tk #Ratio
B3y, 3,4,5,7,8,10
WH:12,16,20,25,35,40,50,70,100

BIEH &5 Type VRB060,VRB090,VRB115,VRB142,VRB180,VRB220

=& & ¥ (The product name)

R EE IR ER

Reducer moment of inertia

VRBOGU VRB090 VRB115 | VRB142|VRB180 | VRB220
3 0.28 1.3 4.8 14.5 49 80

4 BE 455 B Performance characteristics
*[a] 72 5] P 1FE “Low return clearance 4 0.25 1.3 4.6 12 35 70
1 ) R Gear backlash is less than 3arcmin, accurate positioning

EREEPE{K F3arcmin , EfFERE “High torsional rigidity and torque 5 0.25 1.2 4.5 11 30 68
5 MY A ) 1 R 4 58 Adopt one-piece dual support structure domain design, which %ﬁ]ﬁi% k /cm2 1

FRA—EAEESEERRT, BXRESHERAE greatly improves rigidity and torque = 9 7 0.18 0.9 3.5 10 23 95

‘WHWES ‘High output efficiency

S BN RIEFI% 97% efficiency at full load 8 0.17 0.8 3 9.5 22 52

RRE pownorse . . 10 0.14 0.6 25 9 19 40

s Use helical gears for quiet operation : : .

fiz P ok i o 2 A *Grease lubrication free of maintenance

it B R R R A R Use high-viscosity, hard-to-separate grease to effectively 12-40 0.17 0.7 241 12 12 27

EREME. AETHRBE, BUBILFEEEMIKE. £  preventgrease leakage. In No need to change the grease 2

EmEaNETERNEE, during the life of the product, s g g5 s s go .

33 \§ y/ 34




KA K /Specifications Table MODEL:VRB

ot T | b B [1-Stage
i 5 .
e No Onit Rato |VRBOGO |VRBOYO | VRB115 | VRB142 | VRB180 |VRB220 tb®r: 3,4,5,7,8,10
160 915
4 40 100 220 435 790 1400
5 45 115 260 530 910 1700
7 40 105 235 410 830 1550
1 Out put (fiiti3s)
8 40 100 220 400 830 1290 o7 In put (BAR)
Al c4 Cc3 A2
10 30 80 190 350 710 1200 —
12 45 80 160 275 550 915 i -
15 42 90 200 420 700 1300 1l sz |
B HET2N Nm 16 40 100 220 435 790 1400 | — _( = |
e |— = r—r fe ol ol gl s i
Normal Output Torque 20 45 115 260 530 910 1700 S8 = = -
25 45 115 260 530 910 1700 — \
35 40 115 235 410 830 1550 e
40 40 100 220 435 790 1400 co
2 50 45 115 260 530 910 1700
70 40 105 235 410 830 1550 L )
L R = T M T Specifications(Unit:mm):
Eﬂrﬁ%ﬁcysmﬂmqua Nm 1,2 3-100 3fEFEHH H%E/3 Times of Nominal Output Torque R—h’slze VRB060-L1 | VRB090-L1 | VRB115-L1 | VRB142-L1 | VRB180-L1 | VRB220-L1
e rpm 1,2 3-100 4000 3000 2000 ¢ 16 ¢ 22 $ 32 ¢ 40 ¢ 55 ¢ 75
i 1pm 1,2 3-100 8000 6000 4000 $50 ¢80 110 $ 130 $ 160 $ 180
| arcmin 1 <3 < <3 < <3 B o2 (<19) ¢19(<24) ¢24(<24) ¢35(<42) ¢42(<55) ¢ 55
il S| =8 = = A BT 550 (30-70) 70 (50-110) $110 (70-130) #1143 (100-180) ¢ 114.3 $ 200
Precision Backlash P1 2 12-100 <5 <5 <5 <5 <5 <5
D5 $70 ¢ 100 ¢ 130 ¢ 165 $215 $ 250
mewmR atemin L a=10 || =0 5 S5 =B =8 <5 B :-¢55 4-$6.6 4-49 4- 11 4-$13.5 4- 17
recieion Backias 2  12-100 <7 <7 <7 <7 <7 <7 BTN ¢ 70 (70-130) 90 (70-145) ¢ 145 (70-165) $200 (90-230) $200 ( 90-230) ¢ 235
F#BRItTorsional Rigidity Nmiremin 1,2 3-100 35 105 20 39 115 180 B 4-msxi0 4-M6x12 4-M8x16  4-M12x25  4-M12x25  4-M12x25
BB/ Max Radial Force N 1,2 3.100 630 1230 2550 3780 5875 11200 | D9 | M5 M8 M12 M16 M20 M20
BB Max.Axial Force N 1,2 3-100 1100 2200 5025 7610 10900 24000 28.5 36.5 51 79 84 105
c2 15 1.5 1 3
1 B % f/Service Life hr 1,2 20000 ° °
7 6 8 10 12 15 20
# #n/Efficiency % =97 37 48 65 97 105 138
1 3-10 1.8 3.9 7 16 31 48 C6 34 44 118
B8 /Weight kg 8 | C6 | 60 81 80
2 12-100 1.8 46 10 20 39 62 115.5 147 200 261 284 357
e T T 1,2 3-100 (-10° C-90°C) £ 2 5 5 6 7
8 Lubicaion 1,2 3-100 # 4 358/ Lifetime Lubrication - = 40 65 70 90
B4 Proecton Css 12 3-100 IP65 18 24.5 35 43 59 79.5
s = 5 6 10 12 16 20
%4 fa/Mounting posiion 1.2 3-100 £ & [@/Any direction o 50 e o 180 550
BRI ( n1=3000mm E gt ) dB(A) 1, 2 3-100 <58 <60 =63 <65 =67 <70
NoiseLevel - = < < < < < 60 80 130 180 180 220
1.t (i=Nin/Nout) Note :Ratio(i=Nin/Nout) . B =T s Note 1: Inside of()isthe optional range of sizes outside of () is the standard size s.
24 HEE 100rpmBt, (ERAFHHBPOMAE. MNote :When th tput rotation numberis 100 rpm, it acts on the center position of th tput shaft. :I.Ij( ﬁf?lﬁj}i{ﬁﬁ}ﬂ@ﬁ‘f ESIARERT. : p f ng ;
3R A INE S BET28=60% of TonoT, HLEZES, EMAFMHH10000hrs, Note :m:;;:?ﬁﬂﬁ:g%ﬁ%gg;gforrfe i:TZB:%G% O?EI'SI‘SOT. cunlineuu‘:.isscu?\tinuuuesorgtglioi, 2nd E;g ﬁfgﬁ%gggﬁgﬁ ’%_i’jég:;u%?ﬁa Hgll: % ;Ir':z ::gﬁf;rzglgg#;ih:u;?éﬁégg éli?::g%lrz::’1agnl|03?hcsughigﬁﬁeei'gokzﬁgin;g:

Y/ 36



MODEL:VRB

& Eh2-Stage
Eb 4 :12,16,20,25,35,40,50,70,100

Out put (i) oF In put (BA%)
ct 03
C1 c2 jul
- |!
Ty &t%jn |
' el N
— L4 b

Co

1% F Specifications(Unit:mm):

Rif/Size
D1

$16 ¢ 22 ¢ 32 ¢ 40 $55 ¢ 75
D2 ¢ 50 ¢ 80 6110 $ 130 ¢ 160 ¢ 180

614 (<19) ¢19(<24) ¢24(<24) $35(<42) ¢42(<55) ¢ 55
YR 650 (30-70) $70(50-110) 110 ( 70-130) 41143 (100-180) ¢ 114.3 $ 200
$70 $ 100 $130 ¢ 165 ¢ 215 $ 250
BTl +-455 4-$6.6 4-49 4- 11 4-$13.5 iz
BT 70 (70-130) 90 (70-145) ¢ 145 (70-165) $200 (90-230) $200 ( 90-280) 235
| D8 EVIINN 4-M6x12 4-M8x16  4-M12x25  4-M12x25  4-M12x25
| D9 | M5 M8 M12 M16 M20 M20
28.5 36.5 51 79 82 ik
1.5 1.5 2 3 3 3
6 8 10 13 15 20
_ 37 48 60 95 105 138
7 17 28 22 9 32
= 34 44 64 82 80 118
142.5 173.5 234 304 352.5 388

22 28 40 65 70 20
""""" 18 24.5 35 43 59 79.5

5 6 10 12 16 20

60 90 115 142 180 220

60 80 130 180 180 220
U S s L pAR, ot 5L THo reaues Dt SnaI Sl and longth San be CAL o mIZSaTor custirars.
3 AR TTRES PR R R E Note 3: The input size can be customized according to the customer's motor size

EE=aHESKER

Round flange high torque and high speed series

VRL series

1 BE FF BE

“[o 72 i B AR

EER e PR F3arcmin , EACER

RS RS AR E
FA-EXETEREMER, BXRESHERAE
WHAES

ERMFHARRERI7%

RS

EAMEREMHEN

“ih A5 T e M RE

EAEHE. A MREEE, AUMERBELR. %

EREGHNETERBRE,

Performance characteristics

*Low return clearance

Gear backlash is less than 3arcmin, accurate positioning
*High torsional rigidity and torque

Adopt one-piece dual support structure domain design, which
greatly improves rigidity and torque

*High output efficiency

97 % efficiency at full load

‘Low noise

Use helical gears for quiet operation

*Grease lubrication free of maintenance

Use high-viscosity, hard-to—-separate grease to effectively
prevent grease leakage. In No need to change the grease
during the life of the product,

y/ 38



B
VRL SERLS ORDERING CODE

VRL -060-10 - S1 - P1- 5 - (©14x30/®50x3/4-070-05.5)

Bl HRERT
Oiz#S DirHEmEES
Motor Type Motor manufacturerm and model

HEER P1: ffEZYME P2: tRAEEBE

Backlash Class Precision Backlash P1 Standard Backlash P2

tH 71 5 S1:3ki i, THEIE S2rkm, BEE S3HHAT
Output Shaft Keyway Solid Output Shaft(No Keyway) Standard(Keyway) QOutput for holes
Ltk #Ratio

B3, 3,4,5,7,8,10
WH:12,16,20,25,35,40,50,70,100

iEHNLZ& P Type VRLO70,VRL090,VRL115,VRL155,VRL205,VRL235

=& & FR(The product name)

R EEIEER

Reducer moment of inertia

VRLO70 | VRL0O90 | VRL115|VRL155 | VRL205 |VRL235
3 0.28 1.3 4.8 14.5 49

80
4 0.25 13 4.6 12 35 70
5 0.25 1.2 4.5 il 30 68
#HEEE koom2 |
7i 0.18 0.9 3.5 10 23 S
8 0.17 0.8 3 9.5 22 52
10 0.14 0.6 28 9 19 40
2 12-40 0.17 0.7 2.1 12 12 27
50-100 0.16 0.5 1-8 9.5 9.8 21

39 \§

i FK/Specifications Table

P |

Model No

FEWMHAET2N
Normal Output Torque

EfE
Emergency Stop Torque

WEBNEENIN
Normal Input Speed

RAHHEENB
Max.Input Speed

ME & BP1

Precision Backlash P1

&2

Precision Backlash P2

%Rtk Torsional Rigidity
#WEmEN Max.Radial Force
FiFHE N Max.Axial Force
1t B % & /Service Life

¥ &n/Efficiency

E&/Weight

ERRE

Operating Temperature

i/ Lubrication
Ph#PE & Protection Ciass
7 AMounting position
B ( n1=3000mm, T fidk )
Noise LevILI

1.tk (i=Nin/Nout)
2.5
3.

A
Unit

Nm

Nm

rpm

rpm
arcmin

arcmin

Nm/arcmin

N
N
hr

%

kg

dB(A)

HEEHA00rpmid, EAFHHMAP OIS,
F N S B T28=60% of TznoT, EEEESE, {EE &4 A10000hrs, Note :The maximum acceleration force is T2B=60% of T2NOT, continuous continuous rotation, and

1,2
1,2
1.2

O RN DO

1

VRLO70 |VRL090\VRL115 [VRL155 |VRL205 |VRL235

3 45 80 160 275 550 915
4 40 100 220 435 790 1400
5 45 115 260 530 910 1700
7 40 105 235 410 830 1550
8 40 100 220 400 830 1290
10 30 80 190 350 710 1200
12 45 80 160 275 550 915
15 42 90 200 400 750 1350
16 40 100 220 435 790 1400
20 45 115 260 530 910 1700
25 45 115 260 530 910 1700
35 40 115 235 410 830 1550
40 40 100 220 435 790 1400
50 45 TS 260 530 910 1700
70 40 105 235 410 830 1550
100 30 80 190 350 710 1200
3-100 3fEFEHH H14E/3 Times of Nominal Output Torque
3-100 4000 3000 2000
3-100 8000 6000 4000
3-10 <3 <3 <3 <3 <3 <3
12-100 <5 =5 =5 =5 <5 <5
3-10 <b <5 <5 <5h <5 <5
12-100 <7 <7 =7 <7 <7 <7

3-100 3.5 10.5 20 39 115 180

3-100 630 1230 2550 3780 5875 11200
3-100 1100 2200 5025 7610 10900 24000

20000
=97
=94
3-10 1.3 3.9 8.7 16 31 48
12-100 1.8 4.6 10 20 39 62
3-100 (-10° C-90°C)
3-100 #& 4 8/ Lifetime Lubrication
3-100 IP65
3-100 fEE H @/Any direction

3-100 <58 =60 =63 =65 =67 =70

Note :Ratio(i=Nin/Nout)
Note :When the output rotation number is 100 rpm., it acts on the center position of the output shaft.

the service life is 10000hrs.

y/ 40




41

MODEL: VRL

B [R1-Stage
tb#: 3,4,5,7,8,10

Dut put (i)

Bro L2

Al

D2

D1
9
!

1% & Specifications(Unit:mm):

16 ¢ 22 ¢ 32 $ 40 $55 $75

® 52 ¢ 68 ® 90 120 ® 160 180
b14 (<19)  $19(<24) 624 (<24) ¢35(<42) ¢35(=<55) 55
50 (30-70) 670 (50-110) $110 (70-130) 01143 (100-180) ¢ 114.3 ¢ 200

¢ 62 $ 90 130 165 184 6210
BT 4-Msx10 4-M6x12  4-M8x16  4-M10x20  4-M12x25  4-M16x30
BT ©70 (70-130) $90 (70-145) ©145 (70-165) ©200 (90-230) ¢200 (90-230) 235
[ Ds  [EEEVERRI 4-M6x12  4-M8x16  4-M12x25  4-M12x25  4-M12x25
| D9 | M5 M8 M12 M16 M20 M20
28.5 36.5 51 79 82 105

35 44 62 94 100 126
5.5 7 20 8 23 32

34 44 65 82 82 118
115.5 147.5 200 261 284.5 357

3 4 5 P 6 7

22 28 40 65 70 90

18 24.5 35 43 59 79.5

| B 5 6 10 12 16 20

70 90 120 155 205 235

60 86 130 180 180 220
A0 ekt L Bl e prd CLUERE Noto 2: To ToaLa6Y utput Shaf Sias &nd 1onoth 06 be cLStomIzed 1o} Guskmars:
F3 ARG AREEZABRMRETEGES Note 3: The input size can be customized according to the customer's motor size

MODEL: VRL

&2 -Stage
Ek85:12.16.20.25.35.40,50,70.100

Out put (i)

In put (HiA&)
Ca

c2

A2

Cl

s S2

Al
02
D1
]

& R Specifications(Unit:mm):

$16 ¢ 22 $32 ¢ 40 $55 $75

©52 $ 68 ®90 ® 120 ® 160 ® 180

®14 (<19) ¢19(<24) ¢24 (<24) ¢35(<42) ¢35(=55) ¢ 55

BT 650 (30-70) 670 (50-110) $110 (70-130) 01143 (100-180) ~ ®114.3 ¢ 200

¢ 62 $ 90 ¢ 130 ¢ 165 ¢ 184 210

BT 4-msxt0 4-M6x12  4-M8x16  4-M10x20  4-M12x25  4-M16x30

BT 70 (70-130) $90 (90-145) 145 (70-165) ©200 (90-230) 200 (90-230) ¢ 235

B 4-Maxio 4-M6x12  4-MBx16  4-M12x25  4-M12x25  4-M12x25

| D9 | M5 M8 M12 M16 M20 M20

28.5 36.5 51 79 82 105

35 46 62 94 100 126

5.5 6 10 10 23 32

34 44 64 82 82 118

142.5 173.5 234 304 336.5 388

3 4 5 7 6 7

59 28 40 65 70 90

18 24.5 35 43 59 79.5

| B | 5 6 10 12 16 20

70 90 120 155 205 235

60 80 130 180 180 220
pi et i U T L L R

C4




RARERERITRI

Corner precision low noise series

P HAFRseries

TR

HAFR series
Talwan

n fechnolegy

-1

HAFR series
Taiwan technology

M BE 45 B4 Pertormance characteristics
*[E 72 RS PR 4R “Low return clearance
. ) . Gear backlash is less than 8arcmin, accurate positioning

B PR {R Tearcmin , i H5HE improves rigidity and torque
‘WMHMES *High output efficiency
T EHFERERIERI7% 97% efficiency at full load
RS "Low noise

o v “Grease lubrication free of maintenance
“idh B i 7 S A RE

Use high-viscosity, hard—to—-separate grease to effectively

ERASHE. AEIBAOREE, ARAMLRARERR. &
EasalNEFERRARE,

43 Y

prevent grease leakage. In No need to change the grease during

the life of the product,

PR RS
HAFR SERIS ORDERING CODE

HAFR -060-10 - S1 - P1- /i - (©14x30/050x3/4-070-05.5)

RLEHRRRT

B5iERS DikHiERAES
Motor Type Motor manufacturerm and model

ERER P1: IBZHEME P2: kR PE
Backlash Class Precision Backlash P1 Standard Backlash P2

H A ST:sibeh, TEE S2irEm, BEE S3HH AT
Qutput Shaft Keyway Solid Output Shaft(No Keyway) Standard(Keyway) Output for holes

Ek #Ratio
B35: 3,4,5,7,8,10
W7 : 12,15,16,20,25,28,35,40,50,64,100

iEHN F# 3 Type HAFR060,HAFR090,HAFR120,HAFR160

7= &R & F(The product name)

R EENIEER

Reducer moment of inertia

3 (6)7e7 2.63

0.064 12.14
4 0.064 0.77 2.63 12.14
5 0.064 B T 2.63 12.14
EHEEE  kg/em2 :
7 0.064 0.77 2.63 12.14
8 0.064 0.77 2.63 12.14
10 0.064 Q.77 2.63 12.14
12-40 0.064 0.50 2.63 2
2
50-100 0.064 0.50 2.63 12.14




B HT R T /Specifications Table MODEL:HAFR

R s | @M . !
Model No Unit |Stage| goil | HAFRO060 | HAFR090 | HAFR 120 | HAFR 160 ﬁgﬁ 331359‘:‘, 2o
3 18 60 L] r r r r r

115 210
4 33 105 240 630 T A5 INPUT il Y SROUTPUT
Cc6
1 B 30 100 230 540 €5
C4 ~
7 23 90 180 360 a
8 25 85 160 300 52 T“
10 18 70 140 280 = ; |
izt 18 65 140 220 51 o
15 18 70 140 230 e al
16 38 115 280 700 A2 . %
i nm 20 38 115 260 700 & i
Normal Output Torque a
25 33 110 270 580 s |9
D4
28 38 110 280 700 BHY
7 32 40 110 280 700 TR S1 D9 R, 52 j o
35 35 110 270 580 /W i
40 40 110 280 700 @ ¥
50 35 110 270 580 oD a1
64 40 100 240 550 . . .
70 30 90 220 550 #1& & Specifications(Unit:mm):
100 15 70 140 520 HAFR 060-L1 HAFR 090-L1 HAFR 120-L1 HAFR 160-L1
?ﬁ%ﬁcy Siop Talile Nm 1.2 3~200 3fE#E H 7148/3Times of Nominal Output Torque ¢ :;;6) ¢ Téﬁz} ¢:f(1122) :1‘:';
FAEBHNGENIN
Hobnal InputnSpead rpm 1,2 3~200 4000 4000 3500 3000 ¢ 14(<14) $19(=24) $24(=32) $35(=42)
Nt soen pm 12 3-200 8000 8000 6000 5000 I $50(30-50) $70(30-70) 4 110(50-145) ¢ 114.3(70-180)
BE P i 3~10 =8 =8 =8 =8 $70 $100 $130 6185
Precision Backlash P1 Gaiid 2 12~200 =10 =10 =10 =10 “ 4-$55 4-465 4-49 4—$ 11
$70(45-90) $.90(70-145) ¢ 145(70-165) $200(90-235)
WEHmRp2 arcmin : 2Ei0 =1 =l = =i T (4-M5X10) (4-MBX12 (4-MBX16) (4-M12X20)
) 2 )
Precision Backlash 12-200 =14 =14 =14 =14 “ M5X10 MBX12 M10X15 M16X20
$ R Torsional Rigidity Nm/arcmin 1,2 3~200 3 9.2 15 50 _ 28 36 50 80
EiF2 5 Max.Radial Force N 1.2 3~200 360 700 2100 4800 3 3 4 5
SRR Wk puelsotte N 12 3-200 310 605 1750 4150 10 10 15 18
c4 32 40 55 86
-~ 1,2 b
ERERCeeRn i ] sl 200a0n c5 (109.5) (157.0) (207.0) (287.0)
W #n/Efficiency % =18 =94% (145.0) (194.0) (273.0) (367.0)
2 15~200 =91% (50) (7.0) (10.0) (8.0)

_ 1 3~10 16 4.1 102 239 (365) (45.5) (73.0) (94.0)
= . 2 15~200 20 5.2 11.3 27.1 (67.5) (88.3) (134.5) (170.5)
ERRE (97.6) (140) (194.5) (252.5)
e e < 2 3-~200 (-15T~+90C ) A1 & o 120 165
JEB/Lubrication 12 3-~-200 £ & AABmIE ( Synthetic Grease ) ( 60) ( %) (120) (178)
545 G/Protection Ciass 1.2 3~200 IP65 > 3 5 7
%477 /Mounting position 1.2 3~200 &7 (Any Direction ) 25 30 40 65
o i L 3~200 =65 =68 =70 =75 16(51 il 22'5::4'5) 28(335) j’;
;%%ggg“réy%ﬁ:})ﬁ, VERA T HEARORE. Hg:: ;\'?V};I;(iligr;wpouwolaticn number is 100 rpm, it acts on the center position of the output shaft. %1 AT GEEERT, (MESSHERERT, Note 1: Inside of()isthe optional range of sizes outside of () is the standard size s.
S et =i e SRR S R P e e D e s i Sl e AR Nots 3:The input size can be cUstomized according to the oustomer's motor $ze.

45\\ Y/ 46




MODEL:HAFR

#E2-Stage

b : 12,15,16,20,25,28,35,40,50,64,100

iy A5 INPUT

#1& F« Specifications(Unit:mm):

HAFR 060-L2 HAFR 090-L2 HAFR 120-L2 HAFR 160-L2
$40

R~t/Size
D1

8|8

@)
o

O
=

—h

QN0
o

C

[ D3 |
| o& |
[ D5 |
| D6 |
| o7
| o8 |
| Do |
el |
| c2 |
| ¢ |
[ o4 |
| o5 |
| c |
N
[ cs |
[ co |
| o |
[T
| R
| st |
| sz |
| s3 |
i

Qlalalo
o

&

RN =

it 51

g HEOUTPUT

Cé
5
Ch e
e
52 |_
o3
ST H &
c2 2
e | 2
-DS’ C_'?_
D4
BHY
IhElEE T, s2 m
DYy !
T A
e
L Y
D1 B0l

b 14(16) $ 20(22) $25(32)
$ 50 $80 110
$14(=14) ¢ 19(=24) $24(=32)
¢ 50(30-50) ¢ 70(30-70) ¢ 110(50-145)
$70 $100 $ 130
4-455 4-$65 4-¢9
¢ 70(45-90) 4 90(70-145) ¢ 145(70-165)
(4-M5X10) (4-MBX12) (4-M8X16)
M5X10 M6X12 M10X15
28 36 50
3 3 4
10 10 15
32 40 55
(126.0) (181.0) (239.0)
(162.0) (219.0) (305.0)
(5.0) (7.0) (100)
(36.5) (45.5) (73.0)
(67.5) (88.3) (134.5)
(97.6) (140) (194.5)
60 90 120
(60) (90) (120)
2 3 5
25 30 40
16(18) 22.5(24.5) 28(35)
5 6 8

Note 1:Inside of()isthe optional range of sizes outside of () is the standard size s.
Note 2: The reducer output shaft size and length can be customized for custmers.

D9

$130
b 35(<42)
® 114.3(70-180)
$185
4-¢ 11
$200(90-235)
(4-M12X20)
M16X20
80
5
18
86
(324.0)
(414.0)
(8.0)
(94.0)
(170.5)
(252.5)
165
(178)
7
65
43
12

Note 3: The input size can be customized according to the customer's motor size

RAREZ=FERRSTRI

Corner round flange precision low noise series

HAER serjes

Taiwan technology

' BE 4 B

"B ERRE
&g PR{K F8arcmin , ELFEHE
WHBES
EEWHFERRIETI7%
MERE

“ih B TR 7 SR 4R
EREHE. A5IBEEE, AR LEERERE, &£
ERSwPRNEEERERE,

HAER series

HAER series

Taiwan technology

Performance characteristics

“Low return clearance

Gear backlash is less than 8arcmin, accurate positioning

greatly improves rigidity and torque

“High output efficiency

97% efficiency at full load

“Low noise

“Grease lubrication free of maintenance
Use high-viscosity, hard—-to—separate grease to effectively
prevent grease leakage. In No need to change the grease

during the life of the product,

T




RIS H#i K /Specifications Table
HAER SERIS ORDERING CODE

HAER -060-10 - S1 - P1-5%i& - (©14x30/050x3/4-070-05.5) HAER 060 | HAERO090 | HAER120 | HAER 160
. 3 18 60

115 210
4 33
AL e 3t R~ 105 240 630
B 30 100 230 540
SRS DikHlEHRES 1 7 23 90 180 360
Motor Type Motor manufacturerm and model 8 o5 85 160 300
EHER Pl BESHE P2: RIS 10 22 70 140 290
Backlash Class Precision Backlash P1 Standard Backlash P2 12 18 65 140 520
oot = 3 Nm 15 18 70 140 230
H 7 SUTLEH, TRl S2ARER, BRME SSHH BT Suzy tl 12N
Output Shaft Keyway Solid Output Shaft(No Keyway) Standard(Keyway) Outputfor holes Normal Output Torque 16 38 il 1) 280 700
b #Rati 20 38 115 260 700
allio
S 25
#%5. 3457810 33 110 270 580
W 12,15,16,20,25,28,35,40,50,64,100 28 38 110 280 700
5 32 40 110 280 700
BiRHLFE S Type HAERO060,HAER090,HAER120,HAER160 35 35 110 270 580
40 40 110 280 700
FE & #(The product name) 50 35 110 270 580
64 40 100 240 550
AL 9 1R R e ——
yg, I -4 ==} 100 25 80 190 480
Reducer moment of inertia BEEE cootoqe | MM 2 3200 S 14E/5Times of Nominal Output Torgue
niN
Normal Input Speed Ll e 3~200 4000 4000 3500 3000
T ’ o A K En1B m 1‘2 3_‘-200 Bom
A5 By B ¥ tb# | HAER060 | HAER090 | HAER120 | HAER160 Maxnput Speed ke il 6000 5000
REEBP1 | 3-10 =8 =8 =g =8
Precision Backlash P1 & 2 12~200 =10 =10 =10 =10
3 0.064 BT AT 2.63 12.14 FEEsEP2 . 1 3~10 =11 =11 =R =11
Precision Backlash P2 SIS 5 12-200 14 14 — 14
4 0.064 0.77 2.63 12.14 AP/ Torsional Rigidity  Nm/arcmin 1.2 3~200 =3 92 15
@@ Max.Radial Force N 1.2 3~200 360 700 2100 4800
; -2 o
5 0.064 0.77 263 12.14 FEFHES Max Axial Force N 3~200 310 605 1750 4150
1 A% ®/Service Life hr 1.2 3-200 20000h
HHFER  ko/cm2 1 3~10 >94%
n/Efficienc %
7 0.064 Q.77 2.63 12.14 & n/Eff y 2 15-200 SO
R /Weight K . 3~10 16 41 102 239
8 0.064 0.77 2.63 12.14 : B 15-200 20 52 113 27.1
e T 12 | 3-200 (-15C~+90C )
10 0.064 0.77 2.63 12.14 7@/ Lubrication 1,2 3~200 2 &HER#EE (Synthetic Grease )
544 4 /Protection Ciass 1.2 3~200 IPB5
12-40 0.064 0.50 2.63 12.14 %75 /Mounting postion H 3~200 F®A B ( Any Direction )
5 Eﬂ?ﬂlmmjﬁn] dB(A) 1,2 3~200 =65 =68 =70 =75
50-100 0.064 0.50 2.63 12.14 ;%&ﬁi i:guné?::}pun?ﬁff, TERTHHMEBPOEE, Hgig ;f'ﬁtia%“t;gigiqq;uultﬁotatior] number is 100 rpm, it acts on the center position of the output shaft.
3k NiEAET8=60% of TenoT, EEEEH, FHFESAH10000hrs, Note :The maximum acceleration force is T2B=60% of T2NOT, continuous continuous rotation, and

the service life is 11000hrs.

49N Y/ 50




MODEL:HAER

B R1-Stage
EL8f: 3,4,5,7,8,10

(6

02

it s1

201

b
N

&3

€10

1 K Specifications(Unit:mm):

HAER 060-L1
$14(16)
D2 $40
D3 b14(=14)
D4 ¢ 50(30-50)
$52
| oe | (a-Msx10)
D7  70(45-90)
D8 (4-M5X10)
| po | M5*10
28
3
32
(115.0)
(145.0)
o7 (65.0)
c8 (36.5)
(67.5)
©7.6)
60
(0
2
25
16(18)
= — 5
IRk it SRt
F AR ARBEEABILRTEEES

51 \§

it SR OUTPUT

= Al
{
Ll |d
i}
_BHg
e, s2 ;y
= =
/
@1
HAER 090-L1 HAER 120-L1
$ 20(22) $ 25(32)
60 $ 80
b 19(=24) $24(=32)
¢ 70(30-70) ¢ 110(50-145)
$70 ¢ 100
(4-M6X12) (4-M10X20)
$ 90(70-145) ¢ 145(90-165)
(4-M6X12) (4-M8X16)
M&*12 M10*15
36 50
3 4
40 55
(1610) (213.0)
(194.0) (273.0)
(7.0) (10.0)
(45.5) (73.0)
(88.3) (134.5)
(140) (194.5)
90 120
(90) (120)
3 5
30 40
22.5(24.5) 28(35)
6 8

HAER 160-L1
$40
$130
¢ 35(=42)
® 114.3(70-180)
®145
(4-M12X24)
& 200(145-235)
(4-M12X24)
M16720
80
5
86
(287.0)
(367.0)
(8.0)
(94.0)
(170.5)
(2525)
165
(178)
7
65
43
12

Note 1: Inside of()isthe optional range of sizes outside of () is the standard size s.
MNote 2: The reducer output shaft size and length can be customized for custmers.
Note 3: The input size can be customized according to the customer's motor size

MODEL:HAER

#£EX2-Stage

tb#k: 12,15,16,20,25,28,35,40,50,64,100

8 AR INPUT

P
=

Bapd: s1

##%& F Specifications(Unit:mm):

L6

e

301

‘J‘.(Fﬁ%&l‘%}ﬁ?ﬁﬁﬁn

B ARDFIRIE

&

10

. (8

bl

M

Wik 52

By SROUTPUT

BH9
ﬁ
mig D9

>
g

o1

$130
¢ 35(=42)
$114.3(70-180)
6145
(4-M12X24)
¢ 200(145-235)
(4-M12X24)
M16°20
80
5
86
(334.0)
(414.0)
(8.0)
(94.0)
(1705)
(252.5)
165
(178 )
7
65
43
12

Note 1: Inside of()isthe optional range of sizes outside of () is the standard size s.
Note 2: The reducer output shaft size and length can be customized for custmers.
Note 3: The input size can be customized according to the customer's motor size

[ % |  14(16) 4 20(22) 4 25(32) ¢ 40
o b oo
¢ 14(<14) $19(=24) $24(<32)
$ 50(30-50) ¢ 70(30-70) $110(50-145)
$52 $70 $100
| ps | (4-M5X10) (4-M6X12) (4-M10X20)
$70(45-90) $90(70-145) $ 145(90-165)
| b8 | (4-M5X10) (4-M6X12) (4-MBX16)
| Do | M5*10 M6*12 M10"15
5 » o
3 3 4
2 4 55
(132.0) (185.0) (245.0)
(162.0) (219.0) (305.0)
(5.0) 7.0) (10.0)
= 5 0
(67.5) (88.3) (134.5)
(97.6) (140) (194.5)

A1 60 90 120

A2 (60) (90) (120)
2 3 5
= 0 o

S3 16(18) 22.5(24.5) 28(35)

y/ 52



MODEL:ZR MODEL:ZRT

ZREfMBERMBERS ZRT HfaffERRBERS
ZR RIGHT ANGLE PRECISION STEERING GEAR SERIES ZRT RIGHT ANGLE PRECISION STEERING GEAR SERIES

ZR RIIF AL ERIETT, BRFALAE, BN UERENEDEMRESS
BEECE & 7P DR NI BUEL .

ZR series bevel gear can adjust backlash,compact housing design can be used with ZRT (K0 Hh)
any orienta-tion,easy to install or retrofit can meet a variety of motor reducer.

o C1(P.C.D.)

i \1
|

Bl B
B C2(P.C.D) ~ C1({P.C.D) —

— B2 C(PCD)
i

) GEAR HEAD
g INLET DIMENSION
: (FOR MOTOR OUTLET)

##& % Specifications(Unit:mm): P-RV.WAHBZRERY

P,R,V,W Size may vary according to the motor flange chosen

R~t/Size | ZRT042-02 | ZRT042-05 | ZRT060-02 | ZRT060-05 | ZRT090-02 | ZRT090-05 | ZRT120-02 | ZRT150-02
42.5 42.5 60 60 90 90 116 142
- 425 42.5 60 60 90 90 116 142
HIRBFEK/IS ificati Tabl = M
3 M3 M4 M4 M5 M5 M8 M10
ﬁ I Jn"*g / pECI ications a e M3 M3 M4 M4 M5 M5 M8 M10
. M3 M3 M5 M5 M6 M6 M8 M10
7 *f*lgN ZR042 ZR060 ZR090 ZR120 ZR150 48 48 70 70 100 100 145 165
__0_;_{ 2 T . 42 42 46 46 70 70 113.14 130
SME R <+/Size mm [laz 160 190 1120 [1142 35 35 36 36 50 60 113.14 115
?axtif gﬁpﬁ%orq ue hm 15 20 45 90 115 “ 3 3 3 3 5 5 4 4
= = : ; ) 149.5 149.5 172 240
RAHAMEE N - ; ; | _E | 75.5 75.5 29 98.5
;“Efﬁ;’;%’;ﬂ; 3fE&NEH H $1%8/3Times of Nominal Output Torque - —_ g7 o 16 46 46 235
iE =
Hatad Input Spesd rpm 1500 1000 1000 800 800 G 36 36 52 52 80 90 110 130
Qgﬂf‘fﬁgﬁia kg—cm? 0.02 0.06 0.46 0.8 1.72 G1 62.75 74.8 86 98 128.7 138.5 162 206
HEEN R N 300 500 1200 1600 2500 1 12 i - 2 2 %2 2
ﬂf?;‘fidﬁj':;’;‘te B s 13.5 16 15.5 225 225 28 445
=it o] B
Maxixial Fm’ce N 150 200 500 1000 1800 245 37.5 235 a5 33.7 33.7 80 60
HIFE R4/ Torsional Rigidity IRV 1 0 1.2 1.5 5 12 21 o 47 47 64 64 92 il 116 154
10 10 18 16 25 25 30 50
A[ i% A AL b /Ratio pri ML o2 B | peta ML | 271 2:1,5:1 -
i it i i 4 4 4 4 6 6 8 10
ER®/Weight kg ok 1.3 4.1 8.5 14 41 53.5 56 68 83.7 93.5 104 134

Y/ 54




MODEL:ZRH MODEL:ZRD

ZRH HAREHMB RS ZRD EftfBEHmRRS

ZRH RIGHT ANGLE PRECISION STEERING GEAR SERIES ZRD RIGHT ANGLE PRECISION STEERING GEAR SERIES
E . T
O] - L
) ¢ CL(P.C.D.)

= -
|
/
} hd
. -
¥

| D : T e
m\\( 1@} lo -'

L IR S
”\Q')/_\ v

| I /f ok é| @h :
- ' \ = N '

e i CCEREN D
scip.c.oI— | f ] N X0) o

i)

; :
Bl "‘ll III[ /
= 4R —
c2tp.c.o) C1(P.C.D) ‘
G

CIPCD) —
GEAR HEAD
INLET DIMENSION
(FOR MOTOR OUTLET)

GEAR HEAD
INET DIMENSION
(FOR MOTOR OUTLET)

/[
\
B

C1(P.C.D -

L

—  PRV,WADMERART
PRV.WHDAERA R # &R Specifications(Unit:mm): P,R,V,W Size may vary according to the motor flange chosen

AR Specifications(Unit:mm):  p.g,v,W Size may vary according to the motor flange chosen RtrSze
R<t/Size ZRH060-02 | ZRH060-05 | ZRH090-02 | ZRH090-05 42.5 42.5 60 60 90 90 116 142
A 60 60 90 90

HI

42,5 42.5 116 142 Al 42.5 42.5 60 60 90 90 116 142
42.5 42.5 60 60 90 90 116 142 B M3 M3 M4 M4 M5 M5 M8 M10
Bl v M3 M4 M4 M5 M5 M8 M10 M3 M3 M4 M4 M5 M5 M8 M10
M3 M3 M4 M4 M5 M5 M8 M10 M3 M3 Ms M5 M6 M6 M8 M10
M3 M3 M5 M5 M6 M6 M8 M10 48 48 70 70 100 100 145 165
48 48 70 70 100 100 145 165 42 42 46 46 70 70 113.14 130
42 42 46 46 70 70 113.14 130 35 35 36 36 60 60 113.14 115
35 35 36 36 60 60 113.14 115 Ik 3 3 3 3 5 5 4 4
D 3 3 5 5 5 5 4 4 B - 97 125 125 189 124.5 218 313.5
66.5 66.5 88 88 145 145 172 240 21.5 21.5 27 27 46 46 46 73.5
10 10 12 12 42 42 46 73.5 36 36 52 52 80 90 110 130
36 36 52 52 80 80 110 130 62.3 74.8 86 98 128.7 138.5 162 206
62.3 74.8 95.5 95.5 128.7 138.5 162 206 12 12 14 14 20 20 25 40
75 = 7 i =5 50 o5 40 B 13.5 16 15.5 225 225 28 44.5
= ]| 28 28 38 38 22.5 225 28 44.5 245 37.5 23.5 35 33.7 33.7 60 60
K 15.5 28 33 a3 50 46 60 60 [l 6 | 47 47 63.5 63.5 92 97 116 154
0 53 53 72 s 92 92 116 154 10 10 18 18 25 25 30 50
125 125 16 16 6 6 8 10 4 4 4 4 6 6 8 10
41 52.6 63.8 63.8 83.7 935 104 134 41 53.5 56 68 83.7 935 104 134
55 \§ y/ 56




BRI TS
EHEE series DG SERIS ORDERING CODE

DG- 062 - 5- %iE- ( 08-030-045-04.5)
NG TABLE

T #6222 R ~FMotor output installation size

BE R ZEMotor model

Ek #Ratio
BEE. 510,15,18,
#8. 20,30, 40, 50,70,100

=¥ 2 % Type DG062,DG085,0G130,0G200,DG280

EMmZ# (The product name)

- fE F g2 [E

B 53 5 S W A o A/ 0 B 0/ R A0 S5 U T R TR R 4
- EE on FF R

1 EEREENM, ENBES
BHEHCBMERE, REEMABERS £5sec, ENBEER = 15sec,
2.5k, Sk

FERSREEEHREBINEEEAK, RAUETHEMBME,

3. %5 Fiy 8] 7E fir
AEERFENEREES I EN.

415 B8 [ B [0 57

HERFTREHRBHRE,

5. EEiERE

R EZMDDHEMR, IHENMEENETE LEE,

6. 4518
FH{ERRET, ZEEIRENAY A1,

7 IR GE
AIEEER K5 MR FER BiE,

57 \§




dhiz e FE T & M F 2 %l/Central control rotating platform case 1iE¥: F & R~f/Rotating platform size

il
gl oo
: s
HF | i vl et
/gy \ 2ofi s
N
ol Ea ‘E'J 2
‘7&4 %;g-s
A |¢
- |
e /&)( i T ey
b = —— | s
: ) o
\é}( ’f >§ == JJ_ = ||L__
/A I . s
T L T
=
O\ OV
b
N = i
S 4-MIEEs ™~ ERaints wiaste 275 B
I L
3! = L
i /J\-‘J(\»i
L r:& Ht
L e
el Lt
Fmis DG062-5 DG062-10
EREFEIA 42 EE
ISR RR DA 50W - 100W
iR _ ERETHE
EARE DENm 137
mAEEAN 1930
BAAHEA N | 1930
#MEEHEE Nm 10 6.5
HVHRIEHE Nm | 20 13
EEimmEmdEzEh mm +0.005
SRy mm +0.005
ESETE mm 0.015
[ElE&FEE arc-min _ +0.5
EE TS Earc-sec 45
iR E kgm” 4,5%10"
Eis h 25000
EEEIH L r/min 200
BAMIAREE r/min 500
BHE kg 0.55
BAFTRLR IP50
Hih=pae &g g ( Synthetic Grease)
SFHREIRE T =25 C~90 C
B FERARERTE, XTMAEEE, BEREuRTE,
W N3 R AR RERESEER A BERE.
W BTFRTEER. 2R, NERELENaE.




O C%
010
Fl e e
=1
g LF =2
F;;E:
3 i
e ki ST
—-l—..ii i
25 50
435 )
ko f:rj*: o
AT by & 7
‘?If:?\[:j’/x LR, )\71\:..)
RS DGO85-5 DG08S5-10 DGO85-15
IBhcE TR 57 EA 57 EIA 42 EA
B ERDIA 200W~400W 50W~100W
L RESIETHE
|AEAIENM 369
wmAERED N 4800
EAMEA N 4800
EREHSE Nm 35 20 75
EIFRMEHE Nm ' 70 40 15
SIS EIRKED mm ' £0.005
FEZEBksn mm £0,005
FEFTE mm 0.015
[El#EFEE arc—min 0.5
BEEEUSEarc-sec 45
HEHBRE kgm® 21%10-4
Ao h 25000
e B S r/min 200
WAHMAEES r/min 450
B kg 1.4 1.1
B ATR P50 '
fEih= g =& RMEHEEE ( Synthetic Grease)
FFIMEIRE C -25C~90 C

B FEEHEARTE, XFRARTES, SSRRIRIE,
BRI BEFEERESEIMRAAREBRE.
W B TFFRTEN. AR, WET g,

medE F & R ~F/Rotating platform size

' DG130

E‘[h = 1 - E - 6-M5810
) _L:i_l__ 415 i 2-057" %7
L 5 / 110
- : [
_/O ‘ % ! B 2-850 %7
T A
N |ae A
1/ [t
| i
g \ﬁq i "r
o N\ ! -
o %*%,\jf?‘” il | Fo:
[N i
\A-Md.ﬁliw {L 125 -
5 b 435

DG130-10

ERCEH DA

EERR DA

hiFRhzE

EAEDENmM
mAEEAN

BAAHE N

ﬁfﬂx’E}HE Nm 50
FIFIEEAE Nm ' 100
FAREYE mm '
EEEEBERD mm
FEEFTE mm

[E#FEE arc-min
BEEffEEarc—sec
HIEE kgm’

& h

HIE RIS EL rimin
BAHAFEEL r/min

=& kg

BAiRTRER

Fih=pan

MTFIEIRE T

B FEEHRERTE, XTEARER, FEERTRTE.
B IR IERFERESHRIONNEAA RS,
B TR THER. RE, MBS,

DG130-18
57/864 TR
200W-~400W
TR TR
1090
8400
8400
22
44
=0.01
=0.01
0.015
0.5
+5
110%10™
25000
200
350
25
IP50
&R ERHEAE ( Synthetic Grease)
-25C~90 C




e %% & R ~F/Rotating platform size

%A 102.5 98.5
i Tt
WO j 2 o B 345
g H 280
40 = |m s B — |
140 s BT\ W ~——
— 5 o 0 :
| 20 ° S RY  siEmEe 29810 pin - Ll
| 206 & O
| [ 4-Mee — , , ”\
L b/ -
o ! O | — T 13
%ééaﬁ# X = { e Y e
ERE 88| - 3 % /! =
|
| N 1 -
o = el : 295 < N P/
= O = S o = -
% N \J & | I ¢ P.C.Ds145 815 y i O 2-M2.5'4
" 1 A ¢ B e O : 0 g0 | 815 S
Qﬁfy/ 7 —1 1 L _1T 11 =ys &) | S—6 " AJ1¥ed2 '
sS4 ﬁ e 0f7.5 THRU
:{I {
L MSRRT0 P00 7 i &rr 2-08+10 THRU
' 7 Pasie (-0 CD.-
e 57 \“?’E‘gwﬂ"ﬁ_ﬁ/} o . i PC.D-6296% PC.D.-0212
RS DG200-10 DG200-18 RS DG280-10
IERREH DA 864 ik Bl 1305 # O3k
152 {EIHR Sk 750W EfERDIA 1.5KW
IhFIpE TR FEFIF hEdhE I EF R
RAREAENM 2500 mAEDENM A850
mAE[A N 12500 SXEBD N 16000
=AMEA N 12500 WAHEA N 16000
#EHE Nm EERE Nm 200
FFEMRE Nm FIFRMHE Nm 400
L& imEmBEEh mm 0,005 S &immsksn mm +0.005
EaEEBEEh mm +0.005 FaEmbkah mm +0.005
FEEFTE mm 0.015 EEFTE mm 0.015
[EIFEFEEE arc—min +0.5 [E146#552 arc-min +0.5
§§E1L\_I*§Ea_rc-sec %5 EEE(#EEarc-sec +5
HEEIEE kgm’ 880%10" SRS kgm’ 200430*10°¢
FHian h 25000 HEaih 25000
RS R /min 150 EE HEEE r/min 200
AR rimin 300 BEARENEE r/min 250
TR kg 9.5 EE kg 22
[ H TR 1P50 PiPTRLR IP50
BEn £ & A& AS ( Synthetic Grease) HEAR A& i98HAE ( Synthetic Grease)
FIFMZRE C -25°C~90 'C SFRRIEE C (-25TC-90TC )
B FEENFERTE, XFMAGITE, BERETRIE. B EEEAIFERTE, LFHASEE, SeBRnTRIE,
B R TERHERESERIINEARA RS, B R R HERS SHERARDE,
B BT ESTUER. SR, WETEUTmRE. B EFERANEN. KR, WA,

/‘E‘




AR, & 6. 10, 20, 66§ 4965
i"’ 5-MuRR8 001
e e\ /7 7040 %6
85
B} JAT]
b1 "r
i D 395 . N4
1% 5 gty ”‘\%\ \
—
g | LM / / ( W
AL iy - AT
: _Hp 9
Ll e .
= ‘ SEE L RN |- 5 =l J—g’/ - \__/
@ @ SEE IR iR [i: 1) =~ h— A5
\_)( ///t N, = == E L] — e é _//W
: g// y | C " ==l H - ‘7/
| | — o
% == 1 =+ _ E Cil» -— "—‘rfﬂ
I I g =k &l
S 5 = = 11 Hes el AT
Bhe - e
?_ ] Iﬁ’:"_?ld [ IILQJ.: || ;_J it
— ] | — 1 [|[F
L - I il
215
35 : i} 325 315 .
35 (MEREIE) 435 77 (e RE)
RS DG062 FRils DG085-5
iEE;’,LFiEEﬁiE 42$i&£5i$ BRI SR S7HEHSIA
BEL{AIR S 50W ~ 100W ET il A=) 50W~100W  200W~400W
iR T ETHF R TERFEFMFE
RAEEDENm 137 WA DENm 369
EBAEEAN 1930 EXAEED N 4800
SAMEA N 1930 RASHED N 4800
HTEIRIE Nm 10 EHERE Nm 35
FYFIRMERE Nm 20 FIFIRMEHE Nm 70
E&imEbkah mm +0.005 Eaimmikan mm +0.005
FEEZEEE mm +0.005 &R mm +0.005
FETFTHE mm 0.015 FEEFTE mm 0.015
[EEEREE arc—min +0.5 BIEH5E arc—min +0.5
BEEMEEarc-sec 15 ESEIfEEarc—sec 15
EFNRE kgm” 4,5%10" SRR S kgm® 21*%10°
#Fim h 25000 Sdh 25000
FESHEE rimin 200 EEMHFEE rimin 200
BASAEEEY r/min 500 RN rimin 450
BE kg 0.55 EE kg 1.4
3R TRER IP50 [aEi=) GiEiS IP50
=k £ & M8 E ( Synthetic Grease) Emn £ & MG MmAE ( Synthetic Grease)
FVFIREIRE T -25°C~90 °C AUFIRERE C -25C~90C

2 B R EMLE B T f5/Example of use with reducer i

DGOSSHEERIE

W TEEARERTE, XTFRARES, B2ERTRTE.
B I R T AR FRERESHINEAARIRE.
B TR FEHER. AR, MEFFFBELE k.

B AERARERTE, XFMAEES, SSREURIE.
B IINRIBERERESHINNBARARBKE,
W BFFRFUEN. &R, MEFFRLEhHE.




FE B IEHLE FSEfI/Example of use with reducer

=i \ A A
DG 1303 Fe R DG200EHC iRk
21l
i) e __
5o ;;ff_
wiEs
J__ s ~
T © | Q B
=113 1
- s = :5_ == |
] &‘5\_&‘_\‘ -7 T
:E%% xr'i' A %%a!tzl §
i 53 1|" ”
g Irr:%r—:\ A'_‘ A i— T
e [N S1 : :
E— il iH 5 E 3 s i - O © |~
; L__T@ B _ﬂ}_oj‘ - & i ~ 2 — L. ] __:_§§ 3
(=) l———L___ g =2 i = u—@ = = —
\e-MSHEI0 PCDRTY b . E{ | : @
L 3L5 it ] T L e CA il ‘
435 77 (SRR ) Eo 43 / S
07 ( WALREREE ) 1 HRERHELEL
FRES DG130-10 FFRES DG200-10
ISR SR _ S7/86 4 EIA ISR SN 1304 Ok
e G A= 200W-~400W 750W EREAR Sk 1.5KW
UiFEEES ZERRTHR L FERES 3 TR
EAMEENM 1090 RAMAEDENM 4850
mAEEA N 8400 RAEFEEADN 16000
SAMIEND N 8400 RAEN N 16000
EME Nm 50 EHEHE Nm 200
FIFIRIEHE Nm 100 FFRIEHE Nm 400
Fatmmksh mm =0.01 FainEdkzh mm +0.005
EGEEBED mm =0.01 SFEEEkE mm +0.005
FETTE mm 0.015 FEEFETE mm 0.015
[ElIEEFEE arc—min +0.5 [EI4EFEE arc—min +0.5
BEEUEEarc-sec +5 EEEMBEarc-sec +5
HIRE kgm® 110*10" IR E kgm’ 200430*10°*
#in h 25000 #in h 25000
EERHEEEL r/min 200 HER HEE r/min 200
WAMAIEEL rimin 350 RATIANIEEL r/min 250
BE kg 25 BE kg 22
PRI P50 FARTReR: IP50
HitK=yagan & RREmAE ( Synthetic Grease) EgA £ &R iARmAE ( Synthetic Grease)
AVFIREIRE C -25'C~90 'C FEHFIMEIRE C (-25T-90TC )
B FEESrERTE, XFMAEESE, SRR IE. B FEHAIRERTE, XTFHRAREE, BERELRTE.
B NN RIEREERSSHRIMREANRBE. B N RIEHEERESERIMNE AN RS,
B BFSRTEREN . AR, WEFFELIEE. B TR ER. 28, MaFBLmat.

/‘E!




& ECRGEHLE A Sefl/Example of use with reducer e & =31 B $/Rotating platform installation instructions

G280 1EHo kS
D 80 15 E 0 ES “.v
)
WRAES, 4 5 10, 20, 508 345
230 12- K68 605 jo |
140 7 =
‘/ )
oS 5 Gisan 280 i 2 e
e <§ i 4110 pin : : .
83| - 225
AL i 8150 =
G S T I EHAMDAIIESFANRTHITRE, HEhE FHEEZZ EAREE, AE0RAE, 556 BOASHELIZEIRTFHERIEEERS
1l ! O - LI g] = AFERY. BEFEEEE. 1 1, BEEHERTETE.
= : . Arhie22 s [l =
| ot
| ES=
 ——
I 2980 THRU
- = P.C.D-0296 \ P.C.D0-9212
3 8-a11 THRU
= Cll
en
oiig
RS DG280-10
SR Dk 1308 i# B3k
ERAR D 1.5KW
i | = LR FHR
S AMAEHIEND e BREEIEIETa, 12 IEREESE. SEWEEMEFETD, 32 IEREESL.  SEREE.
BABEAN 16000 |
SXMEN N _ 16000
HIFEISE Nm ; 200
BIFRIEAE Nm | 400 E2: IRFIE R EIEE
FEainEBE) mm _ +0.005
EaERbE 0.005 _ DAL 3ETa(8.8T) HERZEETH(12.9T)
& L mm _ + ImFEeRY
FEFITE mm | 0.015 Kgf.cm
@i;ﬁ%;gmi” . = 0: M3 1.28 13 2.15 22
ia}it‘:k . 2004:0 10 i = = s =
[ gm- - -6 4 1 4 1
eRE — _ M5 _ 5.75 | 59 _ 9.7 _ 99
WP min 200 . i | i 1Rt | 155 | 258
BAMASS fmin 250 _ i) | i | i | il _ i
B ko 22 M10 48 489 81 826
5HRTRE | P50 . mi12 83 _ 846 | 140 | 1428
e : % & 9B ( Synthetic Grease) M14 132 _ 1346 220 | 2243
AVFIREEE C (-25T-90C ) M16 200 2039 340 3467
B AEEHRERTE, XFHAREE, BLBRURTE,
B ORI ESHERE SRR ARRE,
B ETFERAEER . A, NERREUTIE.

69}




QOEHZHMES / 90 degree precision steering gear

AR(IRE £A356T6HIE) ! ’

E—

SR WK

i 77

IRhEAE

WA 5 > BEER R

1.3 7

) 77 R EE

B3 HE < 15 AR RLE AL 2E / HZT /T IKH

HZT065,HZT075,HZT090,HZT110,HZT140,
HZT170,HZT210,HZT240,HZT280

b % SRS

1 stage:1,1.5,2,3,4,5

2 stage:7,10,15,20,25,35,50 ®14X30/®50X

3 stage:75,100,125,150,200, 3/4-®70-®5.5
250,350,500

L/L1/H/C/R1/LM/RM/4M
FL/FLM1/FLM2/FL1/FL1M1/FL1M2
FR/FR1M1/FR1M2/FH/FHM1/FHM2/

71§

o E Y CETE)

W E ks

S1: i3 EH i
S2: [t 52 H &

2 HE < U S0 RE ALK / HZT R 51 / #R

HZT s

EY]|

HZT-L/-L1/-R1 HZT-FL/-FL1/-FR1

HZT-H/-C

HZT-FH/-FC HZT-4M/-LM/-RM

4 fB4F SFUTURE

* AR BS TR
|ae. HIT
&P R
s "N
o RHE
s ERFWK
« KT
. R4EH
s REMRERT
* A%
RE o6 -AkE

Different material shell design

Aluminum alloy HZT

Various output shaft options
High torque

high efficiency

long lasting

Low backlash

Maintenance free

Flexible according to size
Color options

black, gold, body color



BEHE G R ENLIE /HZT &5/ BE 5 m

HZT % K i ¥ 77 @)

' ; FE P SRE B X,
Tza
=] | TZA:
REa e
. t A j22 70 B 44 by L b 40 T
1 o ot = 1 ) ~
] 1 i [ Fora* Fraa
. Fo +F
+S e 21 WHMRE For Fo
Bl EEEE) L e
HZT-L HZT-H HZT-C m = :
HZT-FL HZT-FH HZT-FC m’ wtEEEE (Eq.2) rTEE i (Eq.2) \
HZT-4M I Nac
I'IZH.I'IN
ffﬁﬁgfﬁﬁﬁﬁéé%;lt’] ;ﬁﬁﬂﬁﬁﬁﬁﬁﬁf*’sfl i L n,
A4 T2m q. A FETem q. p
| L & lul %
- 1 3000 55 8 K R s
| | ?ﬂ;ﬁ‘rzmax[EqA‘] G B*M
—'r\ | Py e >.¢.- 1.ED= I"t:;" X 100%, t o = L+ 1.+ 1y
%_-_ e %;;:*'—Ir-—‘ T a i 0%
R o C—e]] d.EE pfEik (Eq.1)
1 |
L) ESde R
L —] _— I= n
m‘l & SR A3 BT R T H9 #En2m o
HZT-L1 HZT-FL1 HZT-LM SRR BB E W I En2N Mo IR R
Nor BT IR FE FIIZ
| | (Eq.2)
l ARk B - - 3
I A/ NRLE B Nag X by X Tpy +Nge X b X Toy +Npy X X Toy
" g X g Mo X1+ Xty
r I -_i IEq.Si
.l * ® <] FHER BT 2 2 18R A1F2rm % Tare = Tun X1X1GM
. H #@ESF2am  (Eq.6) KsB# R
1_ % 11 I—I S Ks E AR/
*® - ° 4 - 4 FrEE M EATE > F19Em AF2rB 1.0 0~1.000
ReIP EEEE #il /7 /1F2aB : ,
e = s o 1.1 1,000~1,500
1:3 1,500~2,000
HZT-R1 HZT-FR1 m’ —"m
' I 1.6 2,000~3,000
1.8 3,000~5,000
TmeSiEFAH HiHkE
{OF i % it W - NREEAE €
5.n23=n2,=—;-xnz,
= D D » _ N2 X+ Mo X L+ XYy
H1 o L+t
SSD-d16xdwl4 41 16 26 16 18.5 S5 N > REEH - ﬂ Eaki
SSD-d22xdwl8 50 22 36 19.5 23 —RHEREEAS S TAR !
SSD-d25xdw22 50 25 38 19.5 23 " " 8
g SSD-d44xdw32 50 “ 6 2.5 2.5 . # SRS e R
i 4 FNE + +
é g SSD-d50xdw40 90 50 70 27.5 3.5 EHEMNEAEEEFSUTARX Mgy X L4 Ny X B 40,4 X 1y
SSD-d62xdw50 110 62 86 30.5 34.5 . Mg X X Fpe + My XX P+ Xt X Fpo
5SD-d68xdwh5 115 68 86 30.5 34.5 J) &Eiss 2w Moy X L+ Ny X b+ X1y
SSD-d75xdw60 138 75 100 32.5 38 Im HERE (Eq.6). .

73 \§ y/ 74




SRR VT FE AL / HZTR 5| / % Bh i3 08

R A 580 L 5 B9 F V42 0] 71 B i @) D

X__ | s —
—

BENBHMTRERZZBAERENEMR S, RUABIERRZRIT.

F.n F
E= P o) STYREN R KR+ SR B KBEN R, XERREANEER
A
|
F, Enn —
F.H@an h
HZT @ NB 2R E HF e HZT N B T2 [ HF2e
= . xa0 3 e
ZW 3 [y =
EE 13,500 \ ng \k\ _Hzn!o
wd NN W'D am —r
Rﬂ_ 10,500 \--.____“ R-B- s W a—HZTOES
] — B~
£ R ': M £ R
[(oF _———— LR ——
250 -...__________________ ey
- . n = T | 0 e —— .
SN HEEZE n,g [rpm] WHEMEEE n, [rpm]
BBEN F,, BATFBDOAIEED X=1/2 xL 8,
AEMEZ BENEARBMBEREMT. BAFSN 20,0000 b,
FEERS 2 B RAN Flpe, BERES,
HZT & N4 HZT i 4
| " -
¥ o = e
= o & v ——
e M e
e ™ e - R
= * AN g > e
I RN NN [
L B N\ a >
= Ty — .
FAHMEHIIE X [mm] FAHMEHEE X [mm]

LREAN F, BARERMPIOVIE , EEFEILRENED X < 1/2 xL Y, FIERB2TIFEANEX, STEEENRIX > 1/2 xLbY,
FEERZZBIFEANNEN, BHEE, KEFRNMBREANMAOMUE X, SEAEATRE K.

75 \§

W2 e ORI THZT 25 / e ¥

HZT i’FEH 7?‘( %E;JIES

@ HREBME (HZT R7 6, MESHZTRFER )

HZT075L HZT110L ~ HZT140L HZTi70L  HZT210L
HZT075 L1 HZT110L1 HZT140L1 HZTi70L1 HZT210L1
HZTO75 H HZT110H  HZT140H HZT170H  HZT210H
- HZT075C HZT110C  HZT140C HZTi70C  HZT210C
B Y% OmiEk HZT075 R1 HZT110R1 HZT140R1 HZT170R1 HZT210Ri
Unit Stage Ratio
HZTO75 LM HZT110LM  HZT140LM HZT170 LM HZT210LM
HZTO75 AV HZT110RM HZT140RM HZTi70RM  HZT210 RM
HZTO75 4M HZT1104M HZT1404M HZTi704M  HZT2104M
BESRENE i 5 2 24 42 68 150 330 544 1,220 2,010 3,050
Rated output torque T, 3 18 33 54 120 270 450 1,020 1,650 2,850
4 13 28 48 100 224 376 860 1,410 2,300
5 12 25 40 85 186 320 740 1,210 2,000
BAMENE T Nm 1 1-5 1.5 EEEMENE
BAMEBAEE N rpm 1 1~56 7,500 6,500 5,500 4,500 3,500 3,000 2,200 2,000 1,700
L5 aremin| 1 1~5 <6 <6 <6 <6 <6 <8 <8 <8 <8
Y +]
BIREAN Fuy N 1 1~5 700 950 1,450 2,100 2,700 3,800 7,800 9,600 10,500
W d1
2 -]
BREEN) Fae N 1 1~5 800 1,100 1,700 2,700 4800 6,600 11,500 | 16,000 18,000
Wi d2
1+]
BHHET Fuup N 1 1~5 350 425 725 1,050 1,350 1,800 3,800 4,800 5,250
i d1
SRR Four
N 1 1~5 450 550 850 1,350 2,400 3,300 5,750 8,500 9,000
e d2 ’ ' ’ ' ’ '
EESS " hr 1 1-5 20,000
W& n % 1 1-5 204%
FEREE e 1 1~5 -10° C ~ 80° C
i SHRARE
BE{E (n=1500pm, R )" [dB(A)| 1 1-5 <68 | <70 | <7a <76 | s77 | <78 <BO <82 <83

@ BBV SRR (HZT R 8, MBESHZTRIER )

HZTO75L  HZTO9OL  HZT110L HZT170L  HZT210L  HZT240L
HZTO75L1 HZT090L1 HZT110L1 HZT170L1 HZT210L1 HZT240L1
HZTO75H  HZTO90H  HZT110H HZT170H HZT210H  HZT240H
HZ HZTO75C  HZT090C ~ HZT110C HZT170C  HZT210C  HZT240C
BN O ORGEL HZTO75R1  HZTO9OR1 HZT110R1 HZT170R1 HZT210R1 HZT240R1
Unit Stage Ratio
HZTOS0LM  HZT110LM HZT170 LM HZT210LM  HZT240 LM
HZTO90RM  HZT110 RM HZT170RM  HZT210 RM  HZT240 RM
HZT0904M  HZT1104M HZT1704M  HZT2104M  HZT240 4M
15 0.64 116 282 6.74 18.37 49.28 155.45 283.58 585.78
2 0.44 111 2.70 6.31 17.76 45.35 140.24 249.74 511.76
2
NINR ., e . 3 0.43 108 2.66 6.17 17.18 4401 13495 237.71 483.06
4 0.43 108 2.65 6.13 17.06 4370 133.58 234.72 476.26
5 0.43 109 2.65 6.12 17.02 43.60 133.14 233.67 473.68
0 xn
0 =. = I' ‘. 0 080 [ 0 0 0 0
L &5 1~5 26 42 68 116 188 348 66.2 988.1 155.7
L1 &5 1~5 26 41 6.7 115 185 342 65.1 96 .6 153.4
H &5 1~-5 25 39 6.4 110 18.1 316 60.0 B9.4 143.4
C &5 - % 1-5 28 42 6.9 11.4 18.6 33.7 63.3 97.9 149.1
R1 &5 1~5 26 41 6.7 115 185 342 65.1 96.6 1634
LM X5 1 35 5.6 9.0 15.2 241 424 814 122.0 180.9
RM &5 1 35 5.6 9.0 15.2 241 42.4 814 1220 180.9
4M 57 1 35 5.6 9.1 15.4 248 426 825 1235 1833

A B (i=Ng / Nos) HZT-LMRM/aM R4t 101 ¥
B. FR{ERTE 2% BE2HE T2N (AL TNSE,
CBAMERNEEn, FRTFRARPLOE,

D. B NEN H & ne (ERATFRMARPOIE,
E ESiE%ERF A 10,000 /8,
F BEESSHERELR SHEMAS.



HZT =L

SERIES
E3]]|

(%, WEi=1~5)

HZT -L1/R 1%k

SERIES
#51

(B, BEHi=1~5)

NIRRT 1 R
[N n _
él._.
W stz 2k
el AN
e | 1 5
i | % R B
: \\ P JUET o [l TR0 a
A
i L1
= L1l
) @ H
/ i 3
S g 5
17 N
) = Ey B =
Lt L2 e &
L
is Liz J L1 u1
L1
Lz2
HZT RIIR T (#42: mm)
2 0 090 0 40 9 0 40 80
D1 M6 M6 Ma M10 M12 M16 M16 M16
D3 s 16 18 22 32 40 50 55 60
D4 w 73 88 108 135 165 2056 235 275
D6 M5 M5 Ma M12 M16 M16 M16 M20
D7 Fed 28 33 47 55 75 85 110
D8 62 76 85 82 114 142 160 176
D9 LxMaxL7 4xM5xL8 4xM5xL8 BxMExL10 6xMExL10 6xM8xL12.5 BxMBxL12.5 BxM8xL12.5 6xM10xL15
D10 204 268 35.8 49.8 59.3 79.3 923 102.3
D11 729 87 107 103 127 158 178 198
D12 Te 86 106 104 128 160 180 200
D13 = 16 18 22 32 40 50 55 60
D14 7 73 88 108 135 165 205 235 275
D16 M5 M5 M8 M12 M16 M16 M16 M20
Ll 75 20 110 140 170 210 240 280
L2 30 35 40 50 60 75 85 110
L3 145 15 15 15 15 20 25 25
L4 2 2 2 4 Z 2 i 2
LS 25 28 32 45 50 70 80 100
L6 25 35 4 25 5 25 25 5
L7 54 62 72 87 102 127 147 167
L8 B84 a7 112 137 162 202 232 277
L9 48 4.8 T 10 12 12 12 15
L10 12.5 12.5 19 28 36 36 36 42
L11 30 36 44 55 67 85 85 110
L12 30 35 40 50 60 75 85 110
L13 15 15 15 15 16 20 256 25
L14 2 2 2 2 2 2 2 2
L15 25 28 32 45 50 70 B0 100
L16 25 3.5 4 25 5 25 25 5
L17 8 8 8 10 10 10 10 10
L18 52.5 55 60 60 70 80 105 120
L18 4.8 48 72 10 12 12 12 15
L20 125 125 19 28 36 36 36 42
L21 80 100 115 130 165 195 225 260
L22 120 135 155 180 215 270 310 370
Blm 5 6 6 10 12 14 16 18
B2 re 5 6 6 10 12 14 16 18
H1 18 205 245 35 43 535 59 64
H2 18 20.5 245 35 43 53.5 59 64

Lit LI i 14, 12
|'_' L d 4 _ .
) & [% ,
. o 1 ® e
pux | Wi LDike
g e | e ‘
] Hong [:] ]
E _l W RO INGARS, | RS
BRS ZiDER
5] /C_L«
= Li1
° o 3 ,—“_]
L} &
/| =} ] S _— Q \ - =
o o ) s
14 L 2 g
L . Ll L14 \L
18 [E] L21
HZT &R 3% (84 mm)
2 6 0 R 090 OL1/R 40L1/R 0 R 0 0 H 80 R
D1 M4 M6 ME M8 M10 M12 M16 M16 M16
D3 ke 13 16 18 22 32 40 50 55 60
D4 7 63 73 88 108 135 165 205 235 275
D6 M4 M5 M5 M8 Mi2 M16 M16 M16 M20
D7 i B 22 28 33 47 65 75 85 110
D8 53 62 76 85 82 114 142 160 176
D9 AxM4xLT7 4xM5xL8 4xM5xL8 6xMExL10 6xMExL10 BxM8xL12.5 BxM8xL12.5 6xM8xL12.5 GxM10xL15
D10 154 204 258 35.8 49.8 58.3 793 0923 102.3
D1l 62.9 729 a7 107 103 127 158 178 198
D12 62 72 86 106 104 128 160 180 200
D13 k= 13 16 18 22 32 40 50 55 60
D14 63 73 88 108 135 165 205 235 275
D16 M4 M5 M5 M8 M1z M16 M16 M16 M20
L1 65 75 80 110 140 170 210 240 280
L2 18.5 30 35 40 50 60 75 85 110
L3 13 14.5 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
LS 16 25 28 32 45 50 70 80 100
L6 2 25 35 4 25 5 25 25 5
EF 47.5 54 62 72 87 102 127 147 167
L8 67 B84 a7 112 137 162 202 232 277
L8 45 48 48 -2 10 12 12 12 15
L10 10 12.5 12.5 19 28 36 36 36 42
L11 27 30 36 44 55 67 85 95 110
L12 18.5 30 35 40 50 60 75 85 110
L13 13 15 156 156 15 16 20 25 25
L14 2 2 2 2 2 2 2 2 2
L15 16 25 28 32 45 50 70 80 100
L16 2 25 35 4 25 5 25 25 5
L17 6 8 8 8 10 10 10 10 10
L18 43 52.5 55 60 60 70 20 105 120
L18 4.5 48 48 2 10 12 12 12 15
L20 10 125 12.5 19 28 36 36 36 42
L21 75.5 80 100 115 130 155 195 225 260
L22 95 120 135 155 180 215 270 310 370
Blm 5 5 6 6 10 12 14 16 18
B2 re 5 5 8 6 10 12 14 16 18
H1 15 18 205 245 35 43 5356 69 64
H2 15 18 205 245 35 43 53.5 59 64

77§



HZT -H "™
. I (¥, W bi=1~5)
L1 L6 L5
5 . Biha
J“L Ll .. L1l ™ 2 Fal: fkFEDINGBRE, 1 ER4E
] i T =
i ® /P 4 @ E F
b= e =
! D16 L19 =
5 7 ot ikt sy 12V T
. r T (A
Ll
H3,
% L11 1T
Sl |
3 &
s H Els s 47 = P
| ]e o —
i T
— 121 \; \Lu
L2z s HHDINGSRS
HZT #F R <F3% (% fEmm)
. 06 i 090 0 40 0 0 40 80
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D2w 13 14 18 22 32 40 50 55 60
D4 v 63 73 88 108 135 165 205 235 275
D7 21 22 28 33 47 55 75 85 110
D8 53 62 76 85 92 114 142 160 176
D9 SxMaxL7 4xM5xL8 4xM5xL8 BxMExL10 6xMExL10 BxM8BxL12 5 B6xMBxL12.5 6xMBxL12.5 6xM10xL15
D10 15.4 204 258 358 498 590.3 79.3 823 1023
Dlles 62.9 729 87 107 103 127 158 178 198
D12 62 72 86 106 104 128 160 180 200
D13 e 13 16 18 22 32 40 50 55 60
D14 w 63 73 88 108 135 165 205 235 275
D16 M4 M5 M5 Ma Mi2 M16 Mi6 M16 M20
L1 65 75 80 110 140 170 210 240 280
L3 13 145 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
L7 475 54 62 2 a7 102 127 147 167
L11 27 30 36 44 55 67 85 95 110
L12 18.5 30 35 40 b0 60 75 85 110
L13 13 15 15 15 15 15 20 25 25
L14 2 2 2 2 2 2 2 2 2
L15 16 25 28 32 45 50 70 80 100
L16 2 25 35 4 25 5 25 25 5
L17 6 8 8 8 10 10 10 10 10
L18 43 52.5 55 60 60 70 90 105 120
L19 45 48 48 72 10 12 12 12 15
L20 10 1256 1256 19 28 36 36 36 42
L21 75.5 90 100 115 130 155 185 225 260
L22 85 120 135 155 180 215 270 310 370
L24 30 32 35 35 50 55 65 80 80
B2 m 5 5 6 6 10 12 14 16 18
B3 me 5 5 6 6 10 12 14 16 18
H2 15 18 205 245 35 43 53.5 59 64
H3 16.3 16.3 208 248 35.3 433 538 59.3 64.4

79§

HZT -C "
AP (¥, BoEbHi=1~5)
L3 L1 L3
e B2ho L16 L1§
L26 L LU ' J_PL:SE: f& D INGSSS, 1l it
T 26 - d
g ) ' fsts) D013 aatsy  |E0KS o
T [N
[ L1
9 s ;f G A 3 1
=
A/ ° 3 °
S S z Zlz = Kﬁ' @ o
= = =N w =E < &?ﬁy . g
(3 °
I L4 L4 [z le‘"'ﬂ
L7 L7 M 121 !
L8 18 122
HZT RA R % (8 fimm)
R 06 0 090 0 40 0 0 40 80
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D2 re 13 14 18 22 32 40 50 55 60
D3 ne 16 16 22 25 44 50 62 68 75
D4 7 63 73 88 108 135 165 205 235 275
D8 53 62 76 85 82 114 142 160 176
D8 4xXMAaxL7 4xM5xL8 4xM5xL8 B6xMExL10 BxMBxL10 BxMBxL12.5 BxMBxL12.5 6xM8xL12.5 BxM10xL15
D10 154 204 258 358 498 59.3 793 92.3 102.3
Dille 62.9 729 87 107 103 127 158 178 188
D12 62 72 86 106 104 128 160 180 200
D13 = 13 16 18 22 32 40 50 55 60
D14 w 63 73 B8 108 135 165 206 235 275
D16 M4 M5 M5 M8 M12 M16 M16 M16 M20
D17 26 26 36 38 61 70 B6 86 100
D18 41 41 50 50 80 20 110 116 138
L1 65 75 80 110 140 170 210 240 280
L2 14 14 18 18 24 26 29 20 305
L3 13 145 15 16 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
L7 475 54 62 72 87 102 127 147 167
L8 66 725 85 85 1165 1335 16156 181.5 205
L11 27 30 36 44 55 67 85 85 110
L12 195 30 35 40 50 60 75 85 110
L13 13 15 15 15 15 15 20 25 25
L14 2 2 2 2 2 2 2 2 2
L15 16 25 28 32 45 50 70 80 100
L16 2 25 35 4 25 5 25 25 5
L17 6 8 8 8 10 10 10 10 10
L18 43 525 55 60 60 70 20 105 120
L19 45 48 48 72 10 12 12 12 15
L20 10 125 1256 19 28 36 36 36 42
L21 755 80 100 115 130 155 185 225 260
L22 95 120 135 155 180 215 270 310 370
L25 15 15 18.5 18.5 255 275 3056 30.5 325
L26 18.5 185 23 23 205 315 345 345 38
B2 = 5 5 [:] i} 10 12 14 16 18
H2 15 18 20.5 245 35 43 535 59 64




HZT -LM/RM ™
¥ (¥, mEtki=1~5)
L Ll L
L L1l
1) |l
‘ .E | e
|
°
o ° . I_ Y
il 5] 2 2 & Q ]
] - 5| § i N2/ I
© © ° o
HZT RFR~F R (84: mm)
Ay [ZT065 R g | 0 = » 0 0 0 0 = 8 0
D1 M4 M6 Mé M8 M10 Mi2 M16 M16 M16
D3 13 16 18 22 32 40 50 55 60
D4 63 73 88 108 135 165 205 235 275
D6 M4 M5 M5 M8 M12 M16 M16 M16 M20
D7 21 22 28 33 47 55 75 85 110
D8 53 62 76 85 82 114 142 160 176
D9 4xMaxLT 4xM5xL8 4xM5xLB 6xM6xL10 6xMExL10 6xMBxL125 | 6xMBxL125 | 6xMBxL125 6xM10xL15
D10 15.4 204 258 358 49.8 50.3 79.3 823 102.3
D1l 62.9 7289 87 107 103 127 158 178 188
D12 62 72 86 106 104 128 160 180 200
D13 = 13 16 18 22 32 40 50 56 60
D14 W 63 73 88 108 135 165 205 235 275
D16 M4 M5 M5 M8 M12 M16 M16 M16 M20
L1 65 75 80 110 140 170 210 240 280
L2 18.5 30 35 40 50 60 75 B85 110
L3 13 145 15 15 15 15 20 25 25
L4 2 z 2 2 z 2 2 2 Z
L5 16 25 28 32 45 50 70 80 100
L6 2 25 35 4 25 5 25 25 5
L7 47.5 54 62 72 87 102 127 147 167
L8 67 84 a7 112 137 162 202 232 277
L9 45 48 48 72 10 12 12 12 15
L10 10 125 125 19 28 36 36 36 42
L11 27 30 36 44 85 67 85 95 110
L12 185 30 35 40 50 60 75 85 110
L13 13 15 15 15 15 15 20 25 25
L14 2 2 2 . 2 2 2 2 -
L15 16 25 28 32 45 50 T0 80 100
L16 2 25 35 4 25 5 25 25 5
L17 6 B 8 8 10 10 10 10 10
L18 43 525 55 60 60 70 90 105 120
L19 45 48 48 7.2 10 12 12 12 15
L20 10 125 125 19 28 36 36 36 42
L21 75.5 80 100 115 130 155 185 225 260
L22 95 120 135 155 180 215 270 310 370
Blm 5 5 6 6 10 12 14 16 18
B2 = 5 5 6 i} 10 12 14 16 18
Hl1 15 18 205 245 35 43 53.5 58 64
H2 15 18 20.5 245 35 43 535 59 64

81 \§

HZT -4M

SERIES
EY ]

(%, WEi=1)

1

L1

L1l

Li3

&
G

oy

iy

(=]

ful it

L1

ih: HCRIDINGERG 1

AN

HZT ZRIR+%& e
D1 M4 M6 MB M8 M10 Mi12 M16 M16 M16
D3 13 16 18 22 32 40 50 55 60
D4 wr 63 73 88 108 135 165 205 235 275
D6 M4 M5 M5 M8 M12 M16 M16 M16 M20
D7 1 22 28 33 47 556 75 85 110
D8 53 62 76 a5 92 114 142 160 176
D8 4xM4xLT7 4xM5xL8 4XMSxLB BxMExL10 6xM6xL10 6xM8xL12.5 BxM8xL12 5 6xM8xL12.5 6xM10xL15
D10 154 204 258 35.8 498 59.3 793 8923 102.3
Dile 62.9 729 87 107 103 127 158 178 188
D12 62 72 86 106 104 128 160 180 200
D13 e 13 16 18 2 32 40 50 55 60
D14 w 63 73 88 108 135 165 205 235 275
D16 M4 M5 M5 M8 M12 M16 M16 M16 M20
E1 65 75 90 110 140 170 210 240 280
L2 19.5 30 35 40 50 60 75 85 110
L3 13 145 15 15 15 15 20 25 25
L4 2 2 2 s 2 Z 2 2
L6 16 2b 28 32 45 50 70 80 100
L6 2 25 35 4 25 5 25 25 1]
| Brg 475 54 62 T 87 102 127 147 167
L8 67 84 a7 112 137 162 202 232 277
Lo 45 48 48 72 10 12 12 12 15
L10 10 125 126 19 28 36 36 36 42
L11 27 30 36 44 55 67 85 95 110
12 195 30 35 40 50 60 75 85 110
L13 13 15 15 15 15 15 20 25 25
L14 2 2 2 2 2 2 2 2 2
L15 16 26 28 32 45 50 70 80 100
L16 2 25 35 4 25 5 25 25 5
L17 6 8 8 8 10 10 10 10 10
L18 43 525 55 60 60 70 a0 105 120
L19 45 48 48 72 10 12 12 12 15
L20 10 125 125 19 28 36 36 36 42
L21 755 80 100 1156 130 155 195 225 260
L22 95 120 135 155 180 215 270 310 370
Bl m 5 5 6 6 10 12 14 16 18
B2 = 5 5 6 6 10 12 14 16 18
H1 15 18 205 245 35 43 5356 58 64
H2 15 18 205 245 35 43 535 59 64




HZT: =

Pixl

ol

SERIES

EY ]

@ HRESER (HZT B3 ek, MBSHZTRIER )

1 25 45 78 150 360 585 1,300 2,150 3,200
15 25 45 78 150 360 585 1,300 2,150 3,200
2 24 42 68 150 330 544 1,220 2,010 3,050
' 3 18 33 54 120 270 450 1,020 1,650 2,850
4 13 28 48 100 224 376 860 1,410 2,300
5 12 25 40 85 196 320 740 1,210 2,000
7 25 30 70 165 196 220 450 960 1050
10 24 28 68 150 208 208 430 846 846
15 18 33 54 120 270 312 645 1,269 1,269
2 20 13 28 48 100 224 376 860 1,410 1,682
Ra ten;mofg urjtﬂt?rfue Tu Nm 25 12 25 40 85 196 320 750 1,210 2,000
35 12 25 40 85 196 320 740 1,210 1,790
50 12 25 40 85 196 320 740 1,210 1,465
75 - 45 78 120 210 312 585 1,269 1,269
100 - 45 78 100 224 376 780 1,410 1,682
125 - 45 78 85 196 320 740 1,210 2,000
150 . 45 78 120 135 312 380 975 a75
. 200 = 45 78 100 180 376 520 1,300 1,300
250 - 45 78 85 196 320 650 1,210 1,625
350 - 45 78 85 196 320 740 1,210 1,780
500 - 45 78 85 196 320 740 1,210 1,465
o N 4B T Nm | 12,3 | 1~500 15 BFHEEMHNE
1 1-5 7,600 6,500 5,500 4,500 3,500 3,000 2,200 2,000 1,700
o3 0 i e rpm 2 7~50 8,000 8,000 6,000 6,000 8,000 6,000 4,800 3,600 3,600
3 | 75~500 - - - 8,000 8,000 6,000 6,000 6,000 6,000
1 1-5 <6 <6 <6 <6 <6 <6 <6 <6 <6
#5B aremin| 2 7~50 <8 <8 <8 <8 <8 <10 <10 <10 <16
3 | 75~500 - <12 <12 €13 €13 <15 <15
g‘gﬁ@ﬁ; N |123 ]| 1~500 900 1,100 1,700 2,700 4,800 6,600 | 11,500 | 16,000 | 18,000
gﬁmﬁgﬁg*-f N | 123 1-500 | 450 550 850 1350 | 2400 | 3300 | 5750 | 8500 | 9,000
ERREE " hr | 12,3 | 1~500 20,000
1 1~6 294%
#En %
23 7~500 290%
EARE b B 123 | 1~500 -100C ~ 900C
. SRR
BE{E (n=1500rpm, 135 )° |dB(A)| 12,3 | 1~500 =71 =72 | <76 I <77 [ <78 l <79 | <81 | <83 l <84

83 \§

SERIES
#51

HZ Ty =M

@' ABENENRE (HZT R3] 68, MESHZTRFIER )

0 09 0
0.5 = R 09 H 0 0 R R
1 051 130 314 7.62 23.54 59.09 195.96 365.38 787.63
15 0.46 115 280 6.65 19.34 4938 156.02 279.62 584 28
2 0.44 110 268 6.23 17.72 45 44 140.80 24578 500.26
1
3 043 109 264 6.08 17.16 4411 13551 233.75 471.56
4 043 108 263 6.05 17.03 4379 134.14 230.77 46476
5 043 108 263 6.04 16.88 4369 133.71 220.71 462.08
7 015 015 0.50 2.79 279 279 991 20.26 29.26
10 0.15 015 0.50 2.80 2.80 280 9.96 29 .43 29.43
15 0.15 015 0.50 2.80 280 280 996 2043 2943
- 20 0.15 015 0.50 280 280 280 9.96 2943 29.43
i & kg cm? 25 0.15 0.15 0.50 280 280 280 9.98 2943 20.43
35 0.15 015 0.50 279 279 279 991 29.26 29.26
50 0.15 015 0.50 279 279 279 9.890 2920 20.20
75 = - = 0.15 0.15 0.50 0.50 2.80 280
100 - - - 0.15 0.15 0.50 0.50 280 280
125 - - - 0.15 015 050 0.50 2.80 280
150 - - - 0.15 015 050 0.50 279 279
3
200 = = - 0.15 0.15 0.50 0.50 279 279
250 - - - 0.15 0.15 050 0.50 279 279
350 = = = 0.15 0.15 0.50 0.50 2.79 2789
500 - - - 0.15 0.15 0.50 0.50 279 279
) na
a Ratio 06 0 090 0 40 80
1 1~5 28 4.4 71 12.1 209 36.1 69.4 101.2 158.3
FIZF 2 7~50 32 4.8 8.1 14.3 242 385 74.1 112 .4 1710
3 75~500 & . = 13.8 237 38.8 73.4 110.2 168.7
1 1~56 27 4.3 71 118 203 35.5 68.3 99.6 156.0
FIZF! 2 7~50 32 4.8 8.0 14.2 239 378 73.0 1108 168.6
3 | 76~500 - - : 138 234 38.2 72.3 108.6 166.4
1 1~6 26 41 6.7 114 189 329 63.2 925 146.0
FHEF| kg 2 7-50 31 46 F i 136 224 35.3 679 103.7 158.7
3 | 76~500 - - = 13.3 219 35.6 67.2 1015 156.5
1 1~-5 29 4.4 7.2 118 204 35.0 66.5 96.0 151.7
FC&F 2 7~-560 33 49 82 141 241 37.4 712 107.2 164.4
- § 75~500 - - 13.7 235 37.5 705 105.0 1622
1 1~5 27 43 Tl 119 203 35.5 68.3 899.6 156.0
FR1Z7 2 7-50 32 48 8.0 142 239 379 73.0 110.8 168.6
3 75~500 & = = 138 234 38.2 723 108.6 166.4

A. LE# (i=Nin / Nout)
B. HMR{ERTE 2% BEHE T2N AL TNE,
C.BAMESRAEEnIB EFBETFRA B OMUE

D. EEIE%EBHFHN 10,000 /MY,
ERSHESSHERNELRSHENAS.



HZT 'FL S?F;‘-{'JIES (BF , WEthi=1~5)
[T |w
A * ¥ iy TEAOINGS5/ LA
3 I m -fu 3R
7 o ,  ® \Tj
I WBS1 JallsE i

(A1)

[LTEC

el ez, ) c4 = L1
A LL_T_ 2 L1l ., L1
g 6. - & &
= _‘ )_ lli = " {\l:-it = H o d E g
&] = = F-H-Fl=| T i, ] i
'_U e N _
CE 121 \
L2 L4 Ld 1
L7 L7 1k il
LB L8 5
HZT Kﬁﬁ.ﬂ.a (-‘ﬂ. mm)
R Lo 0 090 40 0 ) 4() aU
D1 M4 MB M6 M8 M10 Miz2 M16 M16 M16
D3 13 16 18 22 32 40 50 55 60
D4 w 63 73 88 108 135 165 205 235 275
D5 31 35 43 53 68 83 104 124 144
D6 M4 M5 M5 M8 M12 M16 M16 M16 M20
D7 21 22 28 33 47 56 75 85 110
D12 62 72 86 106 104 128 160 180 200
D14 63 73 88 108 135 165 205 235 275
D156 6289 728 87 107 105 130 158 178 198
t1 65 75 80 110 140 170 210 240 280
2 19.5 30 35 40 50 60 75 85 110
L3 13 145 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 g 2 2
LS 16 25 28 32 45 50 70 80 100
L6 2 25 35 4 25 5 25 25 5
L7 475 54 62 72 a7 102 127 147 167
L8 67 84 97 112 137 162 202 232 277
L9 45 4.8 48 7.2 10 12 12 12 15
L10 10 125 12.5 19 28 36 36 36 42
L11 27 30 36 44 55 67 85 95 110
L13 13 15 15 15 15 15 20 25 25
L21 49 60.5 63 69.5 85.5 95 130 144 5 135
L22 815 98 108 124 5 155.5 180 235 264.5 275
o 46 70 100 100 130 165 215 215 235
Gt M4 M5 M6 M6 M8 M10 M12 M12 M12
c3! <8/ <14° <14/ <15 875/ £19° <19 <24 <35 <38 <42 <48 <55
c4' 30 34 40 40 50 60 85 85 116
cs' 30 50 80 80 110 130 180 180 200
ce' 35 8 4 4 5 6 6 6 6
& 42 60 80 90 115 142 180 190 220
cs' 195 19 17 17 195 225 29 29 63
ce' 1335 154 5 170 196.5 245 287.5 369 4135 478
c10* 13.25 13.5 1075 10.756 13 15 20.75 20.75 53.5
Blme 5 5 6 6 10 12 14 16 18
H1 15 18 205 245 35 43 53.6 59 64

85 \§

HZT -FL #"
R¥ (¥, WiEi=1~50)
L3 L1 L
L1l L1l
Il
) &
E /+\ B D INGRAG, | E
. N2
@ | -3
I E NS @hike
b CETET
r A
E | | ]
CT
folal} e L 5 L1
- Ch =
TS "
= ! £ 7
2 S ] B B E.I ot S 3
5 | ©
2 L 14 L2 =2 k21
LT L7 Laz i
L8 LB %]

HZT RFIR % PR
e 06 § S0 U () U ) 40 80
D1 M4 M6 M6 Ma M10 M1z M16 M16 M16

D3 13 16 18 22 32 40 50 55 60
D4 63 73 88 108 135 165 205 235 276
D5 31 35 43 53 68 83 104 124 144
D6 M4 M5 M5 M8 M12 M16 M16 M16 M20
D7 21 22 28 33 47 55 75 85 110
D12 62 72 86 106 104 128 160 180 200
D14 w 63 73 88 108 135 165 205 235 275
D15 629 729 B7 107 106 130 158 178 188
£l 65 75 90 110 140 170 210 240 280
L2 195 30 35 40 50 60 75 85 110
L3 13 145 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
L5 16 25 28 32 45 50 70 80 100
L6 2 25 35 4 25 5 25 25 5
L7 475 54 62 72 87 102 127 147 167
L8 67 84 97 112 137 162 202 232 277
L9 45 48 48 72 10 12 12 12 15
L10 10 125 125 19 28 36 36 36 42
L11 27 30 36 44 55 67 85 95 110
L13 13 15 15 15 15 15 20 25 25
L21 75 845 99 122 144 5 1575 206.5 239 248
L22 107.5 122 144 177 2145 2425 3115 350 388
c1’ 46 46 70 100 100 100 130 165 165
c2 M4 M4 M5 M6 M6 M6 M8 M10 M10
c3’ <12 512 <16 <24 <24 <24 <32 <38 <38
c4’ 30 30 34 40 40 40 50 60 60
Ccs® 30 30 50 80 80 80 110 130 130
ce’ 35 35 8 4 4 4 5 8 6
cr 42 42 60 92 92 92 115 142 142
ce’ 215 215 215 20 20 20 24 31 31
cg’ 1615 181 2105 252 3045 3475 440 5 510 550
c10° 145 145 15.5 13 13 13 16 21 21
Blm 5 5 6 6 10 12 14 16 18
H1 15 18 20.5 245 35 43 535 59 64




HZT "FL SﬁEﬁRﬂlES (=% , BEi=75~500) HZT ‘FLl/FRI %EﬁRJIES (% , Wik Hi=1~5)

87 \§

L3 Ll L3
L1l LIl L3 L1 L3
< (K}
! Bl L5 L5 Py &1 i @ °
. T M B [EDINGRRE, 141 = B (ERLINGESS LR
E tal @ & = - /é\ —
“i WSS { . ' e T D38 3 fod Ik = ° L =
it = j | whEAS] r Wi oks2 o L10 |
E =:= ] 215 |’" e |
——— e
o
£ LL
e = 1 il e,
o g =
n
SR : _r . = .
Bl el g : —L 1 1> — 5 ”
0 R s =
1 L4 ' L2 (k] L]
- v L bt o o
LT L7
L5 15 (b = o
HZT BFIR & (84: mm) HZT RAIR % (g4: mm)
i () () 0 40 ol i 0 R 0 H (S0 ) 0 H H 0 H 4() H 8l H
D1 M8 M10 M1z M16 M16 M16 D1 M4 M6 M6 M8 M10 M1z M16 M16 M16
D3 e 22 32 40 50 55 60 D3 13 16 18 22 32 40 50 55 60
D4 i 108 135 165 205 235 275 D4 63 73 88 108 135 165 205 235 275
DS 53 68 83 104 124 144 DS 31 35 43 53 68 83 104 124 144
D6 M8 M12 M16 M16 M16 M20 D6 M4 M5 M5 M8 M12 M16 M16 M16 M20
D7 33 47 55 75 85 110 D7 21 22 28 33 47 55 75 85 110
D12 106 104 128 160 180 200 D12 62 72 86 106 104 128 160 180 200
D14 i 108 135 165 205 235 275 D14 w 63 73 88 108 135 165 205 235 275
D156 107 108 130 158 178 198 D15 6298 729 87 107 105 130 158 178 198
t1 110 140 170 210 240 280 L1 65 75 80 110 140 170 210 240 280
{2 40 50 60 75 85 110 L2 195 30 35 40 50 60 75 85 110
L3 15 15 15 20 25 25 L3 13 145 15 15 16 15 20 25 25
L4 2 2 2 2 2 2 L4 2 2 2 2 2 2 2 2 2
LS 3z 45 50 70 80 100 L5 16 25 28 32 45 50 70 80 100
L6 4 25 5 25 25 5 L6 2 25 35 4 25 5 25 25 5
L7 72 87 102 127 147 167 L7 475 54 62 72 87 102 127 147 167
L8 112 137 162 202 232 277 L8 67 84 97 112 137 162 202 232 277
L9 7.2 10 12 12 12 15 L9 45 48 48 7.2 10 12 12 12 15
L10 19 28 36 36 36 42 L10 10 125 125 19 28 36 36 36 42
L11 44 55 67 85 95 110 L11 27 30 36 44 55 67 85 95 110
L13 15 15 15 20 25 25 L13 13 15 15 15 156 15 20 25 25
L21 136.5 159.5 1835 226 269 278 L21 49 60.5 63 69.5 855 95 130 144.5 135
L22 1915 2295 268.5 331 389 418 L22 815 98 108 124 5 155.5 180 235 264.5 275
ot 46 46 70 70 100 100 oy 46 70 100 100 130 165 215 215 235
oo M4 M4 M5 M5 M6 M6 c2* M4 M5 M6 M6 M8 M10 M12 M12 M12
o3 <12 <12 <16 <16 <24 <24 c3 <B/<14° |<14/<15875/<10° <19 <24 <36 <38 <42 <48 <55
c4' 30 30 34 34 40 40 c4® 30 34 40 40 50 60 85 85 116
cs* 30 30 50 50 80 80 Cc5° 30 50 80 80 110 130 180 180 200
ce’ 35 35 8 8 4 4 c6® 35 8 4 4 5 6 6 ] 6
cr 42 42 60 60 92 92 cr 42 60 90 90 115 142 180 180 220
cs* 215 2156 215 215 20 20 cs’ 195 19 17 17 195 226 28 29 63
co* 268 321 375 457 5 529 578 ce’ 1335 1545 170 196.5 245 287.5 369 4135 478
cio* 145 145 155 155 13 13 c10° 1325 135 1075 1075 13 15 2075 2075 53.5
Blme 6 10 12 14 16 18 Blm 5 5 6 6 10 12 14 16 18
H1 245 35 43 535 59 64 H1 15 18 2056 245 35 43 53.5 59 64




HZT -FlL1/ER1

SERIES
Bl

C0H , WEHi=7~50)

SERIES

HZT -FL1/FR1 %

(=% , W#E Hi=75~500)

LLL

LLL

o

Cli

£l
-~

RS

L]

L1

. HHIDINGRSS

o

L

L L]

2015

D

Ll

L4

L2

‘ °

‘ @

= E L1l L1l
- A=
: ¥
& SE mi 11
| - & *‘ =3
& - .

HZT RAIR & FeRang
H [/T06 H U9 0 H 0 H 0 H 0 al) H
D1 M4 M6 M6 M8 M10 M1z M16 M16

D3 e 13 16 18 22 32 40 50 60
D4 i 63 73 88 108 135 165 205 275
DS 31 35 43 53 68 83 104 144
D6 M4 M5 M5 M8 M12 M16 M16 M20
D7 21 22 28 33 47 55 75 110
D12 62 72 86 106 104 128 160 200
D14 i 63 73 a8 108 135 165 205 275
D156 6289 729 87 107 106 130 158 198
t1 65 75 90 110 140 170 210 280
{2 195 30 35 40 50 60 75 110
L3 13 145 15 15 15 15 20 25
L4 2 2 2 2 2 2 2 2
LS 16 25 28 32 45 50 70 100
L6 2 25 35 4 25 5 25 5
L7 475 54 62 72 87 102 127 167
L8 67 84 97 112 137 162 202 277
L9 45 48 4.8 7.2 10 12 12 15
L10 10 125 125 19 28 36 36 42
L11 27 30 36 44 55 67 85 110
L13 13 15 15 15 15 15 20 25
L21 75 845 99 122 144 5 157 5 206.5 248
L22 107.56 122 144 177 2145 2425 3115 388
ey 46 46 70 100 100 100 130 165
c2’ M4 M4 M5 M6 M6 M6 M8 M10
c3’ <12 €12 <16 <24 <24 <24 <32 <38
c4’ 30 30 34 40 40 40 50 60
Cs’ 30 30 50 80 80 80 110 130
ce’ 35 35 8 4 4 4 5 6
c7’ 42 42 60 92 92 92 115 142
c8’ 2156 215 2156 20 20 20 24 31
ce’ 16156 181 2105 252 304.5 3475 440 5 559
c10’ 14 55 145 155 13 13 13 16 21
Blme 5 5 6 6 10 12 14 18
H1 15 18 205 245 35 43 535 64

d
—
b
L&
HZT RSIR % )
AN U ) R ) U 40) 80
D1 Mma M10 Mi2 M16 M16 M16
D3 22 32 40 50 55 60
D4 108 135 165 205 235 275
DS 53 68 83 104 124 144
D6 M8 M12 M16 M16 M16 M20
D7 33 47 55 75 85 110
D12 106 104 128 160 180 200
D14 w 108 135 165 205 235 275
D15 107 106 130 158 178 188
L1 110 140 170 210 240 280
L2 40 50 60 75 85 110
L3 15 15 15 20 25 25
L4 2 2 2 2 2 2
L5 32 45 50 70 80 100
L6 4 25 5 25 25 5
L7 72 87 102 127 147 167
L8 112 137 162 202 232 277
L9 72 10 12 12 12 15
L10 19 28 36 36 36 42
L11 44 55 67 85 95 110
L13 15 15 15 20 25 25
L21 136 5 159.5 183.5 226 269 278
L22 1915 2295 268.5 331 389 418
oty 46 46 70 70 100 100
2 M4 M4 M5 M5 M6 M6
c3® <12 <12 <16 <16 <24 <24
c4® 30 30 34 34 40 40
Cc5° 30 30 50 50 80 80
ce® 35 35 8 8 4 4
cr 42 42 60 60 92 a2
cs’ 215 215 2156 216 20 20
ce’ 268 321 375 457 5 529 578
c10° 145 145 155 155 13 13
Blm 6 10 12 14 16 18
H1 24 5 35 43 535 59 64

89 \§




HZT -FH

SERIES
£

(B, BEHi=1~5)

L3 L1

L3

L11

Pl s

L11

il

L1

Clo

@147

a5

2

By
L.11

L1l

/~$i!.- I NGBEE T g

A g \_A
LT LI co I
HZT RFIR+% i
AN U6 0 90 i 40 0 U 40) 80
D1 M4 M6 M6 ma M10 M12 M16 M16 M16
D2 13 14 18 22 32 40 50 55 60
D4 63 73 88 108 135 165 205 235 275
DS 31 35 43 53 68 83 104 124 144
D7 21 22 28 33 47 55 75 85 110
D12 62 72 86 106 104 128 160 180 200
D14 63 73 88 108 135 165 205 235 275
D15 62.9 729 87 107 105 130 158 178 198
L1 65 75 80 110 140 170 210 240 280
L3 13 145 15 15 15 15 20 25 25
L4 2 2 2 D 2 2 2 2 2
L7 475 54 62 70 a7 102 127 147 167
L11 27 30 36 44 55 67 85 95 110
L13 13 15 15 15 15 15 20 25 25
L21 49 60.5 63 69.5 855 95 130 144 5 135
L22 815 98 108 124 5 155.5 180 235 264 5 276
L23 40 47 52 53 70 80 95 115 115
L24 30 32 35 35 50 55 85 80 80
& 46 70 100 100 130 165 215 215 236
c2* M4 M5 M6 M6 M8 M10 M12 M12 M12
c3' s11/s12”° | s14/s15875/s16" <19 <24 <32 <38 s42 <48 <55
c4® 30 34 40 40 50 60 85 85 116
[ 30 50 80 80 110 130 180 180 200
ce’ 35 8 4 4 5 6 6 6 6
e 42 60 90 80 115 142 180 190 220
cs’ 195 19 17 17 19.5 225 29 29 63
co* 1335 154 5 170 196.5 245 2875 369 4136 478
c10’ 1325 135 1075 10.75 13 15 20.75 20.75 535
B3 e 5 5 6 6 10 12 14 16 18
H3 15.3 16.3 208 248 353 433 538 503 64.4

91 \§

HZT -FH

SERIES
B

W H |, WEHi=7~50)

L11

13

01

Clo

LT

fol) 1)

D5

L1l

Bam

/‘W_r L DINGBES 15 F

¢ 4
\m
HZT RAIR+% i
A Uo () 090 4() 0 ) 80
D1 M4 M6 ME Ma M10 M1z M16 M16 M16
D2 13 14 18 22 32 40 50 55 60
D4 63 73 88 108 135 165 205 235 275
DS 31 35 43 53 68 83 104 124 144
D7 21 22 28 33 47 55 75 85 110
D12 62 72 86 106 104 128 160 180 200
D14 W 63 73 88 108 135 165 205 235 275
D15 629 729 87 107 106 130 158 178 198
| 52 5 65 75 80 110 140 170 210 240 280
L3 13 145 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
L7 475 54 62 72 87 102 127 147 167
L11 27 30 36 44 55 67 85 95 110
L13 13 15 15 15 15 15 20 25 25
L21 75 845 99 122 144 5 157.5 206.5 239 248
L22 107.5 122 144 177 2145 2425 3115 350 388
L23 40 47 52 53 70 80 95 115 115
L24 30 32 35 35 50 55 65 80 80
e 46 46 70 100 100 100 130 165 165
c2" M4 M4 MS M6 M6 M6 me M10 M10
o <12 <12 <16 <24 <24 <24 <32 <38 <38
cy* 30 30 34 40 40 40 50 60 60
cs 30 30 50 80 80 80 110 130 130
ce* 35 35 8 4 4 4 5 ] 6
T 42 42 60 92 92 92 115 142 142
£ 215 215 215 20 20 20 24 31 31
co* 1615 181 210.5 252 304.5 3475 4405 510 559
ci1o* 145 14.5 15.5 13 13 13 16 21 21
B3 5 5 6 6 10 12 14 16 18
H3 153 16.3 20.8 24 8 35.3 433 538 50.3 64.4




SERIES
HZT -FH %" =% swei-rss

L11 Lil
/ﬂ
4 o
=07 "
| @05
' c7 L1
g |2 : = > : - il A IRDINGSBS/ LR
.“. Ln_‘_:_ 4 E 1 /
/? \? o,
o P @ = . 1 a A ar
HEHE g = sL_H BNl s A
) ¢ [] S bt G A
8 121
A la i
L7 | LT 9 1)}
HZT RAIR % (A i)
R 0 40 ) 0 80
D1 M8 M10 M12 M16 M16 M16
D2 22 32 40 50 55 60
D4 i 108 135 166 205 235 275
DS 53 68 83 104 124 144
D7 33 47 55 75 85 110
D12 106 104 128 160 180 200
D14 v 108 135 165 205 235 275
D15 107 106 130 158 178 198
L1 110 140 170 210 240 280
L3 15 15 15 20 25 25
L4 2 2 2 2 2 2
L7 72 87 102 127 147 167
L11 44 55 67 85 95 110
L13 15 15 15 20 25 25
L21 136.5 159.5 183.5 226 269 278
L22 1915 2295 268.5 331 389 418
L23 53 70 80 95 115 115
L24 35 50 56 65 80 80
Tos ke 46 46 70 70 100 100
o2 M4 M4 M5 M5 M6 M6
ca® <12 <12 <16 <16 <24 <24
c4* 30 30 34 34 40 40
cs” 30 30 50 50 80 80
c6™ 35 35 8 8 4 4
e 42 42 60 60 92 92
ca* 215 215 215 215 20 20
co* 268 321 375 4575 529 578
Cc10* 145 145 155 155 13 13
B3 6 10 12 14 16 18
H3 248 35.3 433 53.8 59.3 64.4

93 \§

HZT -FC

SERIES

¥ (A%, mEki=1~5)

L3 Ll

Li1

#ihs

2015

[ [V

dicz

it

e

@5

HZT RAIR <% O )
AN s ) 090 A40) U 0 () 80
D1 M4 M6 M6 M8 M10 Miz2 M16 M16 M16

D2 13 14 18 22 32 40 50 55 60
D3 16 16 22 25 44 50 62 68 75
D4 63 73 88 108 135 165 205 235 275
D12 62 72 86 106 104 128 160 180 200
D14 63 73 88 108 135 165 205 235 275
D15 629 729 87 107 105 130 158 178 198
D17 26 26 36 38 61 70 86 86 100
D18 41 41 50 50 80 280 110 116 138
L1 65 75 90 110 140 170 210 240 280
L2 14 14 18 18 24 26 29 29 305
L3 13 145 15 15 15 15 20 25 25
L4 2 2 2 2 D 2 2 2 o
L7 475 54 62 72 87 102 127 147 167
L8 66 725 85 95 116.5 1335 1615 1815 205
L11 27 30 36 44 55 67 85 95 110
L13 13 15 15 15 15 15 20 25 25
L21 49 60.5 63 69.5 855 95 130 144 5 135
L22 815 08 108 124 5 155.5 180 235 264.5 276
L23 15 15 20 20 26 28 31 31 325
L24 15 15 20 20 26 28 31 31 325
L25 15 15 195 195 255 275 305 305 325
L26 185 185 23 23 295 315 345 345 38
c1® 46 70 100 100 130 165 2156 2156 235
o M4 M5 M6 M6 M8 M10 M12 M12 M12
c3” €11 /<12 <14 / £15.875 / <16 <19 <24 <32 <38 <42 <48 <55
c4® 30 34 40 40 50 60 85 85 116
cs 30 50 80 80 110 130 180 180 200
cg” 35 8 4 4 5 6 ] 6 6
cr? 42 60 20 90 115 142 180 190 220
cs® 195 19 17 17 195 225 29 29 63
co” 1335 1545 170 196.5 245 287 5 369 4135 478
Cc10“ 1325 135 10.75 10.75 13 15 2075 20.75 535




HZT -FC

SERIES

ES]]

CoH , BEHi=7~50)

@Dy

1.

L1l

18

L1

#

LI3

@015

Zic2

BB

A

J_I:

@anT

I A
iz

T
L

==y

L2]

L1

L11

L22

o

M

HZT R3IR % e
A L6 U LUS0) ) ) ) A40) ol
D1 M4 M6 MB M8 M10 M1z M16 M16 M16

D2+ 13 14 18 22 32 40 50 55 60
D3 16 16 22 25 44 50 62 68 75
D4 v 63 73 88 108 135 165 205 235 275
D12 62 72 86 106 104 128 160 180 200
D14 v 63 73 88 108 135 165 205 235 275
D15 629 729 87 107 106 130 158 178 198
D17 26 26 36 38 61 70 86 86 100
D18 41 41 50 50 B0 80 110 1156 138
t1 65 75 90 110 140 170 210 240 280
{2 14 14 18 18 24 26 29 29 305
L3 13 145 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
L7 475 54 62 72 87 102 127 147 167
L8 66 72.5 85 95 116.5 1335 161.5 1815 205
L11 27 30 36 44 55 67 85 95 110
L13 13 15 15 15 15 15 20 25 25
L21 75 845 99 122 144 5 157 56 206.5 239 248
L22 107.56 122 144 177 2145 2425 3115 359 388
L23 15 15 20 20 26 28 31 31 325
L24 15 15 20 20 26 28 31 31 325
L25 15 15 19.5 19.6 255 275 30.6 305 325
L26 185 185 23 23 295 315 345 345 38
1™ 46 46 70 100 100 100 130 165 165
o M4 M4 M5 M6 M6 M6 M8 M10 M10
c™ <12 <12 <16 <24 <24 <24 <32 <38 <38
c4* 30 30 34 40 40 40 50 60 60
Cc5* 30 30 50 80 80 80 110 130 130
ce* 35 35 8 4 4 4 5 6 6
cr” 42 42 60 02 92 92 115 142 142
cs® 2156 215 2156 20 20 20 24 31 31
co® 1615 181 2105 252 304.5 3475 4405 510 559
cio™ 145 145 155 13 13 13 16 21 21

95 \§

HZT -FC

SERIES

byl

(=% , MEHi=75~500)

oS

L13

205

@

P
i A

i

EDdne

?ﬁ\ jE
)

&

|4

HZT 7R <% PR
AN ) U 0 4’ ) 80
D1 Mma M10 Mi2 M16 M16 M16
D2 22 32 40 50 55 60
D3 25 44 50 62 68 75
D4 108 135 165 205 235 275
D12 106 104 128 160 180 200
D14 108 135 165 205 235 275
D15 107 106 130 158 178 198
D17 38 61 70 86 86 100
D18 50 B0 80 110 115 138
L1 110 140 170 210 240 280
L2 18 24 26 20 29 305
L3 15 15 15 20 25 25
L4 2 2 2 2 2 2
L7 72 87 102 127 147 167
L8 95 1165 1335 1615 1815 205
L11 44 656 67 85 25 110
L13 15 15 15 20 25 25
L21 136.5 159.5 183.5 226 269 278
L22 1915 2295 268.5 331 389 418
L23 20 26 28 31 31 325
L24 20 26 28 31 31 325
L25 195 255 275 305 3056 325
L26 23 205 3156 345 345 38
(i) 46 46 70 70 100 100
c2* M4 M4 M5 M5 M6 M6
o <12 <12 <16 <16 <24 <24
c4* 30 30 34 34 40 40
c5"” 30 30 50 50 80 80
oe"” 35 35 8 8 4 4
o 42 42 60 60 92 92
ey 215 215 2156 216 20 20
cg* 268 321 375 4575 529 578
Cc10* 145 145 155 155 13 13




REFEEHE

Tstl L= ];i

RENNESEER
EETRRELRERN, HEB T EEET.

1 HEFTRRRNBETETRE.
2EMAEZRINEHRNIBETERSE, EENFERNITH
BHERZEE, LBESWMHEIMRNERCEABRE.
K FIETE).

BITRKNEEER

R B Pl A
cBEMEBREGRERAERERETRHATRNERHER.
SRR, WA ERFHSE, REEEM,
BT RABABEE, RASEH .

OEE#E FEFRIETERM (MBS ) o AEBRERAIER

RE&, RE
WOEEEEEEII TSRS ER

FEEZNTEME, KBRZENSEMERR, FEERELQR

i

BESEA0T-40T,

i FRiBEEEIME AR, VAREALAAER,
BAMBEETTEDHHEFENREE L, FHERER.,
REREZEIREEENEMNME.

BTRREIM TR EIE
ANRERHEFUEETHRHESEWERIE, BEETERE
Ao MRBITH, BERR@LMAERSTEE, FIBEM0F
&,

ETRRiEEREE

mEEAEBES,
WHEENFBERE, NENEE,
BWETIIERE, FEBEETINETRE.
-BEREALEF

cRAHBRRKNEER
CHERAEBIEE

HE

- RIEHEMREMERER.
AT &BAfMEERERIEERN.
1) RERWEGE.

Cautions for storage

Whenever temporarily keeping the product, keep the
following directions:

1.Keepinaclean and dry piace.

2.Whenever storing outdoors or in humid place, putin abox so
that it does not directly contact rain or extemal air and cover
with a vinyl sheet(Take a measure to prevent rust).

Cautions for operation

When the reduxcer is delivered to you---

When the produce delivered please con rem that same moderl
you have ordered.

Please wipe out the input and output shaft of the reducer which
is coverde by anti-corrosive oil.

#Please remove the rubber cap on the input shaft before you
wipe the shafts.

#Lubricant (grease) is already lled in the reducer. It is avaliable
asitis.

Fixation & installation

Avoid use in place where rain or water drops directly.

In case of use outdoors or in a place where dust and water
drops, consult in advance.

Install at 0°C~40°C of surrounding temperature.

In case of use attemperature out of the above-mentioned
range, contact the headquarters and consult on this.

Firmly x with a bolt onto a solid stand without vibration.

Install in consideration of convenience in repair and inspection.

Cautions prior to starting the operation

Reducer can be used soon after arrval, since it has already
been lled out with lubrication.

At initial operation, check the rotating direction of the output
shaft then gradually apply load.

Cautions during operation

Avoid overload.Ensure that input speed shall not be the number
of revolutions beyond the speci cation.

In the following cases,stop the operation and check the follow-
ing points;

- If temperature sharply increases

- If an abnormal noise appears sharply

+ If the number of revolutions becomes unstable sharply

2) FEMBHMEEEEEIRNAUZELETEELRT. REJHEMERIHNER.
3) BRERNEE, BETEMNAEAZEARTAXSFPERFEMMBERE.

4) RERARENSEEORE,

YA\

1T R RGER S RIE R KA

SHER .
HlBiEw FMpSE . MBEE.

-

S ER4.
BEEEEENEETFIENY, E&
WHNRELETE LA, & 5EME
NN, FTERREEIGN
o, EERBIEMNETEEEEEEN
EEE, RIEENEEHEEERER
Eigg, (8%5%—)

1 T REDIA

SHER2,
BT#HER,

SHER5.

4583

HEE d N\ B E IR BR M HE SR AL
IR, FREAREERERDN. MF
AWME, REFEWMERT.

4586

ERABERTFERREENREAER gappme, =5,

REE®EE. (&2%%—)

VS, BESRR

BT DR, TS

FEEE e, FEEOSESTS FatmAmmLroEeEY, 5
g BAMEONF, BAT - wemo  DAMHESGEE, HE
tg P SN hinF NSk imbE b FiESEMER DA
3 5 new JEEAE, EADAE, (B BiE—, RESSWER
=} Q Bikkh RO SHEREO AFSHERRFFEON
3%, LUERAIREREE g o ¥, BIEEYETRNERRE
FERAH ERRNEE SR, FEIEE EE,
HEEH,
EMENDATESE HINENTRERE
A
R4 R~ [Nm] [kgfm] [Nm] [kgfm]
| M3 | 1.1 0.11 1.9 0.18
[ M4 | 25 0.26 43 0.44
[ M5 | 5.1 0.52 8.7 0.89
[ M6 | 8.7 0.89 15 1.5
21 2.1 36 a7
[ M10 | 42 4.3 71 7.2
[ m12 | 72 7.3 125 13
| M16_ EREY 14 - -

y/ 98






